ST Ye9T f¥Teres ursar (UPTET) witarm-2021
YT T (Class I-V) &

AT Higd TUH Y-l T & (adem fifer : 28 e, 2021)

Child Development and Teaching Method
aTeT Teranta W foaroT fafer
1. Which of the following is NOT the main laws of
learning given by thorndike?

e @ 9 ®E-w gHeEs g|r femm e
arferTy Rt g T e €2
(a) Law of Exercise/3TI9 & f4aw
(b) Law of Readiness/deaidr &1 fam
(c) Law of Effect/q4ra &1 faw
(d) Law of attitude/31f¥agf =1 fram
Ans. (d) : gFEE® W fm T SAREm @ qed e
arfgfy &1 fem & 21
aeTEs 3N f&F T e & qe d fem §-
(1) =9 &1 fam (2) T & e
(3) Fure &1 fram
arerRs g fad T e oy frem-
1. wgft 1 99 (Law of attitude)
2. ag3TfRar &1 (989 (Law of multiple respose)
3. 3k foRam &1 f=m (Law of partial activity)
4. 3R H 9 (Law of self realization)
5
2

. geed 9Radq &1 g (Law of associative chang)

Kohler and Kofka believed learning to a
function of :

THIZET AT SHIFEhT o SFTAR HE=T Brar -

(a) Imitation/3ATHITT ZIT

(b) Trial effort/aM9 1T

(c) Insight/¥=T ST

(d) Exercise/31%¥MH gRI
Ans. (c) : HIECR, HIFR 71 TR & SIR G R
drar S 21 g F 9 S Rl e S g
foepem 4 21

FEeR 4 T o) ¥ goar s el &1 9= &

faam fioR # & 21 39 yR W T 5 3% T §
TR ST ST ST Hehell o7 3R iR & o’ el 3eR-
IR W T A1 ST Fedl o T T b A1l Hat
@R oSt 3% o 1 WA FW am, e o
Tl H TEIA T I I BT HigT o7 IS Ferief
#F gfe T W TE W ST Foll W I H IIEM
IS T DL H 3T TH-TW H HART I 3K =T
HT o q9r 39 DL G ¥ hell B U AR i
F G R (AN 39 TR Fieer 7 faedsht w wgn e
3R fred frebrenr 5 Sta-weguf S &1 Sefieo
T 2 3 T AR W S g 39 Bl 8 3R 3|

3. Who was the father of social constructivism?

[Tk fAtuTaTe & W= S 97

(a) Novak/AaTh (b) Vyogotski/aﬁﬁ?\qﬁﬁ

(¢) Piaget/frarst (d) Glaserfled/ ArETIS
Ans. (b) : THEIS fHiUER % SHE RS 8|
IS HT GHSTR GEHIUT GIHTHS [FHH H ThH
yferefier faecisoT g SHear 81 aTEiat @1 AT 8
It T BT TAIS o R FAiq S TR g
T 37t e B

4. Which of the following is not a characteristic of
development?

for B & o forera At fergroan = €2

(a) To be cumulative./Sat BT

(b) To be Directional./fa3TeT® el

(c) To be specific./faf¥re g

(d) To be uncontrolled and independent.
Ans. (d) : 3BT W& T g e & e T
21 SEfh 3 (a) HEA BT (b) v B (c) fafvE
BT foehrg &t fagisand €
5. Author of the book 'Hereditary Genius' is :

‘Ffeedt Shfaw’ 7w & aE® § e .

(a) Hurlock/g%ish (b) Galton/TMeEd

(©) Woodworth/ﬂga’?j (d) Ross/g
Ans. (b) : TR Hfew T&s & a@s Mo 2
i Meed 99q gAawes 3 =i dafes e
FI AR 1 3T fohar| IR 379 39 21T 9
frps & &9 § e7oT J&sh (Hereditary Genius) H Far

for Jafths AT B 21
6. Lowest level of cognitive achievement is :
WA T o1 =Ia9 & §—

(a) Understanding/aﬁ‘a (b) Knowledge/3M

(c) Application/3TTaIT (d) Evaluation/qeaieh
Ans. (b) : SIS TN FT <AqH TR I 81 0 &
FffehoT % STER TS LT BN F Sviieg e
21 @ R % YA B A &, TSI, TS
3R Fae S (fparcrs) # anffepa shear 2-
(1) SIS JH &F- TR hrere
(2) EEF [ & A A1 qEAw & 7 I
(3) TEHMIT T 87— TR Hivre
wmmﬁm%ﬁﬁzﬂ@ﬁaﬁsgm) Sfvrat et & S

mﬁm:m:ﬁmmmﬂjmfﬁjﬁﬁmél
IS LA LI B B I I St B 4 B I B | I B TA N L BN L B LAY

> o e o -
wm%uu = U AN I A o 21 B B ) L B AN B
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4) fargero
O  amEm \
(2V areg \
O ——

3T TS T AT TR JH 2
7. The last step of microteaching is :

gau-forerer & sifem dar §—-

(a) Feedback/dfagiee
(b) Re-planning/J-: RIEEI]

(c) Re-feedback/T: Ffaqfe
(d) Re-teaching/q: f¥reror
oA T S g
o £

Ans. (c) : Fau-fymeqor 1 &HfaH
T e § B 9wor |

(1) TS AT (2) R

(3) wfgfe (4) T A

(5) T fmgor (6) T: Sayfe

37: Geur-fowgor & sifw =R O wfogfe 2
8. According to 'Guilford', divergent thinking

requires :

% AR o Fra= & araveres 3

(a) Categorization./’ﬁ'ﬂﬂw

(b) Fluency of ideas./fS=R yar18

(¢) Arithmetical reasoning./3{eUTA Teh

(d) One solution./Th AT
Ans. (b) : TR & ER 0a foaa § faer yar
AT 2|

v S =R % e IS guer Wi S @ wd 39

THE & G & fOu & Al ST SHed e ud
1 TATT HAT B a1 3T GEET & GHEH

w9 H TH ¥ 31 7 TGT A 8, A 39 FHBR & e

&1 Il e wed €

3@l & (out-of-the-box) f&dT T emRd 21 (out-

of—the—box)ﬁﬁqﬁwméwmﬁ 3T

T a1 R Rt A9 % 9 # g

SEEWT— 5 F F uH (o R et @ wew
T 2 5 Ak TR UW o a §, a1 g a4 H?

TG VY P IW ST S I g1 o v fufy §
Tgwwmwmaﬁiﬁﬂwﬁﬁaﬂw
o T UW §Ed THS §, 3R W UW g, ar # g g

I T LTI
o TR W YW B, a1 H oA H uRrE & 91y I

1 TG A
I gl W ATeld J GRS AT H T Fh T8 H
I fem 2

method?
(a) John Dewey/SIH ST& (b) Osborn/3ir&
(c) Hurlock/g%ish (d) Ausubel/3TTHs
Ans. (b) : TReawh 35 fafyr % Sferresh 3ffe 2|
s See fafyr § ares & ey T Sy
Fr I 2, RS g aTas & Aikaeh § 39d-9ue I
Bl @ T 39 SUE-9ge % G ST [ Ad v i
THE H 2
o 3 fafyr & arcen % uRass I THT H I goEr
U 3 SHHAT S 2 |
o 3T fafyy § arorpl S ol e & S 2
10.

9. Who is the propounder é);f Brain-storm_i%ng

Who is associated with Thematic Apperception
test./UTHITeR STTaler THeTor | sl Taferd §—

(a) C.D. Morgan/d1.8T. A

(b) H.A. Murray/T4.T, ﬂi

(c) Both (a) and (b)/(a) TH (b) EiE]

(d) J.L. Moreno/<!. T ARAT
Ans. (¢) : TS ety weor G@E. oiT Td TaT
g iR fRAr T 1 e e &
ary wleor o wed €1 T8 e ARe H A F
TR Tebeiieh 21 39 g ARhed Sl fagrarsit @ Sie
F STl 21 59 whewr § Fel 31 F1E A 21 59 e
# 30 fet o s R S 21 3 10 o wienst %
fom, 10 o qEst % foaw aor 10 o @4 5 @ @ §

T HIE Tl BT &1 WERowW: Afaq 10 & # d

T fepem ST 2 1

=g
ERIGE?

%

11.  First stage of creative thinking is known as :

TSR Toa= ot Terd TawelT shgelTdl §—
(a) Preparation/\”Tl"’ﬁ?F{ (b) Incubation/3gHd
(¢) Tlumination/Sa&  (d) Revision/TMer

Ans. (a) : GSHIHS [Ea H1 Toq TGET TS HaaAl
2| 3 o7aeT § =4tk S GHE & a9 faue # evas
T THT i Bid 21 SI9-Ueh feHehr &l 79t 4T amm
T qd ot Mopferh T W AR T, SER, JeE M

F JE TES I HET BT

12.  Stimulus Response theory was propounded by:

IEUH IR RagTa T Fferare feram am—
(a) Thorndike/T-eTEH

(b) Gestalt/ TR

(c) Both of the above/‘o"q?i?ﬁ EEl

(d) None of the above/i?af g Gﬁ'if EHl

Ans. (a) : 38195 TR faga &1 gfaares aFerEs J
foFor g1 oreE® 7 Sadus iR SRR & SwEl
e F & U Igdo srfhan fasra &1 wfaares
fFam o W & & ww frem sm-

(1) deaar &1 e (2) =9 &1 fam

(3) w9 & e

AHEESF F AU UG T i T 81 g

i e 1 HE Afdss i 217 e # ufsar |
SRS Al T Beeed O e ST AN 2
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13. Which factors affect learning :
HA-W ek AT T T el £7
(a) Personal factor/SfRKITd HH
(b) Environmental factor/aTTaXul Tt HRH
(c) Social factor/HMHISTh HRbH
(d) All of the above/39t T+t

16. Project method is associated with

Werere fafir wwafeera g—
(a) Kilpatrick/fFemdfe®  (b) Rousseau/&@l
(©) Montessory/ﬁ'éﬂ'ff (d) Froebel/Sae

Ans. (d) : FETTR 3 9T FAE % MER W TH
FRH H FeFE fhar @, S g &9 § gt =Afea &
Urga & wwfed o €1 died & g9ifed i 9 R
foet &~

(1) =ARHTT FRH

(2) STAERT TR HH

(3) UM Fh

(4) YRS 9 AHYS @ed FRE

(5) 9%erdr a1 YR & JH HRH
37a: 39 qeft W 1 g e ATl R 2

Ans. (a) : Te &R &1 sfoue frerdfes g fhar
21 e gor smuren SiE Al g e w2l
fpodfes <9 €t & w9 3@ fafy § fame
Trfaefe & &9 # BT 21 39 A F g gt erwa
B & T U e e W oo A S 21 3 o
# W B Ao I T U W g 81 Yo fafy §
et § AN fHia, a0 Wik o1 {2 & |

fperdfess & SFER- ‘AT 1 UNEE TS TE QR
e & St grEfers Aot # ol Gerdr 4 gege e

St 217

14. 'Who gave the concept of multiple intelligence.
wgdls 1 g fere faar ar—
(a) Piaget/ﬁ'qﬁ (b) Bruner/s-X
(¢) Gardner/METX (d) Vyogotsky/a’ﬁm

17. In lesson plan, what is related to students
pervious knowled

e?
1S AT o BT %a ud srfire | weafera &2
(a) Objective Writing/ﬁ?'q IgfCE]
(b) Introductory questions/S&IET 44
(c) Evaluation questions/ﬂﬂf‘cﬁ ERp]
(d) Statement of aim/<&T HYT

Ans. (b) : TS-ASHT § ST T B & qd-3tfenm §
e |

foredt off ur B IR FE § F TS B AT B
forq, arearues fenfeial & e 5-6 W9 A €, S SHb
7d I I A F A BT §1 I qd I F SMER W

1Tk T T ek UIS Sl TEIET Al B

15. Spearman has given :

e = fean—

(a) Two factor theory of intelligence
g o feehre g

(b) Group factor theory of intelligence
S F T

(c) Multi factor theory of intelligence
& F TgHERS T

(d) Process oriented theory of intelligence

qfeg w1 Hfshar 3@ g

18.  Choose the wrong statement :/7TeTel STeRT ST Fri—
(a) Student learn best in natural environment
BE G 3Tl W arameor § g §
(b) Student learn best by doing
BE T 3T ik Ed §
(¢) Student learn best in playway condition
BE T 3= Wo-gd § g §
(d) Student learn best in controlled environment

BE 9aY Tl R amET § 9 8

Ans. (a) : 35 F1 GFRS g wiew = 7 @ 911 39

g % 9N 9fg & & acl g 8|
(1) "M dd (G-Factor)

(2) fafdre a& (S-Factor)

(1) W ded— I & QT ad H glaer 7 gfie ¥
G-Factor I &gl ST 8| WM dcd oAtk &1 g9
fopenelt # fafea @ 21 T8 a oot § 9w g wn
ST B

) fafyre qea— faftee @ & gfawr &t gfe ¥ -
Factor 9t &gl 5ar 21 &t faftre & & & &
fore e favm gfg wd fqumr & savasar gedt
21 Sui fafire d WeEs B 81 T8 e S
o Sy aria B a2

Ans. (d) : B0 T 31=31 (4R amero § d@ed € 9"
FIT AT 21 TGS F FIER WG TF AERH
ishaT 81 AT ishar fieath oqeeRl % g el 8l
THE-FaER WAl % YR W uRaffq iR uRmiim
B 21 B e TR ¥ e §-

o T WY S| WU AEoT § 9 ¢

o DH AU 37 Hh rEd & |

o M TIY 3D GA-Td § iEd B

o TH TIY MWD I aMEN0T § GEd 2

W U H k SUR- TrEAr, oTeEdl, g9 agn fgfuat
&1 i 81

19. Which amendment of the _constitution
emphasized on right to education? /G & o

Hoes & Rren & TR W oo foar w37
(a) 52"Y/52 af (b) 86™M/86 af
) 6868 =t (d) 29190 Ff
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Ans. (b) : GRAEE & 86af Tened 4 e & R W
I @ T 21 39 Sy G9ieE % o1 uR 6-14 9 &
Yo% e Bl o IR A e 1 SRR 2
%wﬁﬁwmﬁﬁﬁaﬂ%ﬂ%ﬁ#ﬂlm
T SR8 21 & UMW SIS T AT IR 21A ¥
21 T oTT=T 21A, forn & SR ¥ gefed 2

20.  Functions of teaching includes :

rerur & e W GhARTT §—

(a) Evaluation function/Jedi®- 1
(b) Remedial function/STaRIce Hr
(c) Diagnostic function/faMTeH Fr
(d) All of these/3T® Heft

Ans. (d) : e & &0 &

(1) W fawa-awq wd St &1 faeasr

(2) BE F g g gEenst & e FE F
for frameTes &l e

(3) BHE 1 f@r T F geihT HEATI

(4) BE B 3TH FAfheh RrFTe & YR W 0T 3
YRS HF BT

s wlt o 3 ol wuf 3

21. Teaching will be least effective when :

Torgror wed T, -
(a) Teacher is autocratic/f¥TeTe TITEmRATE! ull
(b) Students are passive/farandf fafsra &
(c) Emphasis is only on writing
R A &
(d) All of these/3T® Heft

Ans. (d) : fY=I0T T8 7 T9EIET g, SE-

(1) forersh UhETRHRaTd 8|

(2) feeneff fferar @

(3) I forms W o far s

(4) Had A P kAT W Fe fa=m e

37 Tt FROT eI BT FH A T

37c: fYTeqor i yeaeTett a9 & foru-

o s 1 370 e o 1 BRI g 9w @ =Ry

o s 379 I TH 9T § BE & T & I I
3T SITET A 3T AT =R

o fyTereh 37Ul YTRTOT Wfeham 1 U T aTaEReT § qEe
FET AR

o 3T 1 A FE F WE-HT BEI F HEA B A

oy st T1fRe, e fmeor gurEeel 99 9|
22.

Theory of Trans formational Grammar was
given by :/¥TST wUauT fagT=T fear ar—

(a) Bernstein/sH&IT F (b) Chomsky/iﬁﬂﬁ?r 3
(c) Fillmore/fFalmX & (d) Skinner/f=
Ans. (b) : ST YR H g dmen 4 f@r
AT T AT HF H S Hel ST 2

Il F SFER, TS H SO TH A F FE A
AT TSI B g1 ST A ST e F e
Fou ¥ @ 3 ¥ ffed g1 9 enA & & 3 e

o fifm 9ag % & &t €1 9 R @ oo 8, @
IRl b sl SNes. Tradh Tonfe e

23.  Which is not correct with reference to physical

structure of the body?
IR e o T<d § s Ter T 872
(a) Mesomarphic/ﬁ@'ﬂhﬁﬁﬁ
(b) Antagonistic/T=T{ResH
(c) Ectomarphicf@v‘ﬁ'ﬁﬁﬁﬁ
(d) Endomarphic/Tuemifthe
Ans. (b) : TURS o7 & Ty § TR a1 e |
T=MfResd ¥ agd 8, S 3% AR Yaha FaeR
TSI e 81
Jieed I 99 THR & sfthe S §-
1. "Omfhs (TEAER)- T8 =fh TEid qdr AeEd
IR a1t B
2. UHMIhE (TEHE)- U ARG gaen-uqen qor
FASI IR A B 2
3. wwemifthd (MoHE)- TH =ARE &1 TRIRS T
TA-HETe q9T A B 2|

Identify the components of motivation from the
followin

Froore 3§ e 3 s o T e
(a) Need/3AaIhdT
(b) Drive/3=Hrg
(c) Incentive/STcaTET
(d) All of the above/39dt T+t
Ans. (d) : 3TFTYIHAT, 3G, FETE |
Sueth gt SRR % S B
SR BT R TEER H IS 2|
RPN F A ARE B 3T ARG Rfd
et fo wRffr # =fE @ a;cﬁ T TH TG
£

24,

W %QQEW%@W Wﬁrﬂ'nqaﬁm
i 8, S = B HE HE
MO % e FhNIHSE I FHHS a1 &l Fohd 21
WHNS @ o Bid 8 S oFfth W i S IR
HAT & SIH- G, WISH, Gheldl 3| ThRIHR o d
3 2 Y =R s a1 9 # RN H 8 S9-
AT Ry, 3mum, ve off)

25.  Psycho-Analytic theory was propounded by :
u%ﬁvﬁwnm fagT & gfeures 99—

(a) Singmund freud/fTHE HIE
(b) Allport/3TTeTad
(¢) Guilford/fewig
(d) Both (b) and (c)/(b) T (c) I
Ans. (a) : TFHE B §R AHIGTATINHS (g
yfoafed foeanr T 911 WEE @ AR
Tfrefier fagra 8 3R 39 grom W Ry @ % e
3R =fthea faera gosf ek westi § feiRa @ 2
fia § S A AMg Afash & o 9 @l
SI9- 9 1 SN g H g 7, 1 39 90%
T O F AT 10% A SR @Al @1 Had 3R s &
T F 7w o1 oA A 2

BT FaeR & fpamstt & f&dur 8 389 (id), 7|

(Egq) 9 WIEH (Super Ego) S STENUT TEfd i)
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26. Which of the following is not associated with

learning theory propounded by Skinner ......... .
frafafas & @

& ferm g wioutfea
T % RagT & wwatea T 8-
(a) Programmed Instruction Materials
AR STee T
(b) Personalized Instruction/fth ferifea 34':@"%17[
(c) Learning through errors
I & mrem 9 e
(d) Behaviour modification technique
SRR EIOT Teheileh!
Ans. (¢) : e gm0 wfeaifeq e & g &-
(1) foswfia sreem Tl fagr
(2) =afw freifa sreem faar
(3) TR TR Tt 5=
Safes e & AreEm ¥ e R g wfwfed fagr
T 21 7% e grierRs gN wfwid fear T 81 T8
fogid o6 H@d | 97 I ¢ S F emgfe e #
FgT STAT |
27.

Which of the following is more useful for the
students of different abilities and interest?

farfirer TS T e AT T i
HIT-HT YediehT 3ereh STt Fm?
(a) Internal Evaluation/37idReh W
(b) External Evaluation/sTeq H@W
(c) Practical Evaluation/STaife qeich
(d) Continuous and Comprehensive Evaluation/
Tad Ud =A% Godishd
Ans. (d) : fafm graaet wd s o e &g
TAd T A9 qodish A S ST
Tad U AUS edihd dedi § G faeM # R
R frafm oo 8, i fem F o wqsl &
faftrr faferl @ Sueholl 510 =AM STeer AT ST 2 |
28.  Which of the following is NOT related to the

29.  Which of the folloying is NOT the level of

teaching?/Fr T ¥ I-HT TT8T0T w1 T T 22

(a) Memory Level/Sjfd &

(b) Motivational Level/3TRSRUT X

(¢) Understanding Level/3T@@1e T

(d) Reflective Level/Seamadi &R
Ans. (b) : fmT & =T (Levels of Teaching) 98 3T4R 2
S wrem ¥ ot w0 Sifes fGwe B s 21 s
BAEI F FHAG T 4§ difes fowm fhar smr 21 R
F qE: A WX §, R STUR W areet @ g
&1 fparaea fpar st @1 R & fmfafad @@

W E
(1) /st T (Reflective Level)
2) e/ AT TR (Understanding Level)
(3) Hfd &R (Memory Level)

30. Psycho-social theory of development was
propounded by /éﬁh‘l’ﬁ <h STe

TagT=T oAt Tferare feRam ar—
(a) Thorndike/&T=381g® 7 (b) Erykson/TRe I
(¢) Skinner/feT (d) Hurlock/g%@ie 3
Ans. (b) : TFE & THEmEINS Aagrd TREFEE 50
sfeaifed forar man 21 wRe 3 off wEE 1 a© =fea
fopre =1 SMER Sifae SR e 7T € TR 39 SIS
F fowra g i G oMeR 2 faa
e 4 =t faem & fau gmfs srs &
ggﬂﬁﬁmaﬁiﬁmaﬁmmﬁaﬁﬁ,ﬁ
(1) SteEmERe— fqvary a9m sifavam
(2) IRFTh STCATaEIT— Saadl I eseeiierdr
(3) T - Ygd ek T e
(4) foee™ stawer— aRe sAM g
(5) foreTeRe- 376" ga oM Sfi derf-a
(6) TEUT TIHTES— IS I4M fqea=
(7) AEASIEHITI— SAATHbAT o+ TR
(8) TRUFEERS- 3TEH TrUiaT S AR

Language-I : Hindi/f&=<

Cognitive domain of Bloom's taxonmy of|31, ‘ST’ T acAH T &7
instruqtional objectives? ) (a) a9 (b) T
ﬁnﬁﬁaﬁwa@mﬁwﬁﬁwﬁﬁ (c) A (d) T
ST % SATRTT <k WA e W | S i o o v A 3
& & Tw AR Tga vieg H - ddH 9 veE @ € S
(a) Comprehension/S:ITﬁﬁﬂ G&hd AT TR T T BRI 2d & 991 d=d 9
(b) Knowledge/s TR B E S Hg W § uRadd & Ay e # em
(¢) Character building/aft famfor &1 F® TEH-TaTT Rl B YA T TR 8-
(d) Analysisfﬁﬂﬁﬂ'ﬂT E‘lﬁ[

Ans. (¢) : SRHF SeTA § WU sod & FMBOI || oo e

& aftr fmior d9eTE o wEfud T8 81 S| | | e

T, S, S, fAeevr, e qo g 3 | | iy atg

I UeT ¥ G ¥ se[ o YT A1 SRR | | sy .

gl T @1 T 3H &~ Head (JFTHS, T &), Heart|||sm ad

(VETHeE S &), Hand (FEREEIE SE &5) | Fem FC il
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32. ‘emehg’ o1 UEiHETE T §?
(a) 3T (b) FF  (c) 39T (d) SAThI=T
Ans. (b) : ‘IFhT F1 FAFAT TR S
v UIiHaTEt
AT afg, 99w, AgHEl, gHehq, T S|
S S, T, AGEA SO
AMEHTST A, W, Y, 79, I A
33. TaAfefad TeeT & Tt ST el
e foge At & g A 3R It 3
W e i ggg & TRA & g1 & wm gufe
TH 3G WG F A W 8 I I S W B
o o T8 weAl & s g9 § W e, S
HETIHD N a1 Bl Tediied L S AT qraT
o W A Hw F 5 vt 7ma F o
feqat 78t 2t
ST Ufh | HiIA U % wel § 31gd 3N
AT VI < & &2
(@f @ (b FRE (o) @fg  (d) &
Ans. (a) : 3T Ufth % MUR R AT & ol | 37
R 31qea vfe R % @ R
34, A HEll & oG &7
(a) TR (b) SRR R
(c) TR T eIt (d) TR aEa
Ans. (a) : ‘BT FEH b OEH AT GEE HUT THER
g1 geft YueER (YFueE) F I 31 JoE 1880 L. A
IO F AWE AW WM W g I YA ®Y G
FEHHR F ITAMEE & &9 § g &1 g qHg
TRl # U TR, $EE, 98 R S S, g i T,
el SUST, $%A TR g1 §al e, e, TMed
FAYM, Ty s S Su= B
A1, Sfdeatd, STHREY, e, THene Saviet JHE &
g FEE TR 21 I B AT, T§ B FEI, TR
T g FEE Wi 81 Rigared, Jv wE g,
BB AHEA TS A1ed & IHg FHEH GIE 2|
35. 3fqa 3qa frdt Wt WX TER anet ua
TRy €a | 96, T Are- 971
IUGH U § TR §—
(a) ®H (b) 3THT
(c) 3T (d) feremamg
Ans. (a) : 3f<T IR 9 W, TR o1 TG
e T TS T, T A Y| Ufh § §UF AR
2 T 4R ¥ SeafiR W i &I, W W -
i () @, A WS F T A WG
() BT 27T FRT g T TUF STeABH 7 |
®UHh AhN— &l 3T & IUAF H &9 AW forn
ST 8, 98l 9 TSR e 8
IW— g S Y T @ O g
36. '‘SHY SST A& AT g’ W hA-HT Ao &7
(a) HEA=A
PN ~= =i =i

Ans. (a) : 9reT— [ha1 % 39 UREAT I Gr=F Fed T,

ST T g9 91 o1 TaT "oAdm @ % are o St i,

FH 1A 99 T ¥ fhus Ty 7, 39 fRus SR

foFam & qEw, S99 S o £

= % G THR -

(i) YA (ii) FHATA (iii) Trear=

(i) TEETeA— R % 39 ®IFR & qEad Fed

79 9/ & g H A g

SEEAUT— 1. Y I T S| 2. ITH ST A A

(ii) Fdarea— fp & R &9 & al gu= @, SH

‘Fgared’ Fed €, Se- 1. @0 M 21 2. T 7 gy R

(i) FwHaTeI— fFer & 9 w7 & &4 yyE @, W

SH- 1. diar 3 o7 foman) 2. " 3 e fora

37.  ''Tm fiR-fR ugar 77 H -4 3reHd § 7
(a) FaEeS 319d (b) feranfawior sy
(c) TETgaIYs 3 (d) fawmnfeatee s

Ans. (b) : 3T /(R 91&2 (Indeclinables)— TH

g foEH o, 999, S s & RO B [FHR

(aRads F& smman) ‘s’ FEan § |

Hie— =g §ag uafdd wd €, T g &9 ReR

Tl 2, Ff T aeen

HT & He- T F G9R 98 o

1. fopan oo 2. S=ag dig® I 3. HaY AEE

3T 4. formanfe M =

1. feram favroor srema— < visg fopam &t famioer aqed

g, 9 foran famivor ‘oo’ deemd €1 ol & STHR W

o fooT 9N SR & 2 8-

(i) TTeT= (if) SHrerer=eh (ifi) IRumHEE (iv) it

HfTT, T, |1, A TS|

aﬁ:?ww‘mﬁrﬁwﬂﬁamm’%m

T 2

38. ‘‘fewmer ® M feRedt &7 W TR @ReR T
T gar 872
(a) UEHE  (b)Fal  (c) HH (d) FTT

Ans. (a) : HRe&— T A1 G & 9 &Y ¥ 999 &
3 VRl % WY 3% T F 9™ e 8, 39 HRE
Fed 1 = H o IR A -

Earca fawf fog /ot
et 3

w4 &

FOT T, & g0

grEE &, & fog

e T (31T B9 % 379 )
Ty F,0H, @, T, L,
ArHTOT ", TR

TG |, gl eR!

STt & e o Wed ST I AY T @ STURH HNF
g 21 e Wy § fF fewem @ twm fawerdt @ H
‘UEH FE 21

ANy ldll,l
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‘g @ @I R TR wenr @t femam 27
(a) TFHF  (b)HEd () THHH (d) TIH fopalm
Ans. (a) : TSRIT (Adverb)- 59 vz 9 frdt & &1 &0
0 HET T I, 3T FRAr Fed €1 SH- @, di,
T, | @ e
Me— ‘foren faadt vz &, fEs &9 # fofw, @=q 3ik
69 & SFHR IR BT Tl 2
FH % MU W B % a1 98 8-
(i) 31 fopam (ii) TehHah fopaml
(i) 3Tt fma— 59 fFn & @19 &4 & 53m 9 @,
‘3epAe fopar Fed €1 S
1. 98 @A @I 21 2. T (shah) @ () 21
(ii) Tertes Temam— 59 fpor & o0 4 o1y @, 39
“Heptich fha Fed B
Y- W (at) 3w (H9) @ () B
(iii) TR foRan— @ 1 fFan @ a1 & § e e
F U § T 2, T I WY A Fad g
Y- 78 AR Gordi-ged W@t 71
N
(W) (F&T) (T
" ST e A foe gue W
g GaRar fawer sier 3ava 1 #i'
9 Ufth | hIT-9T1 FAhT 57
(a) SR (b) ®IF () Foema®  (d) 79
Ans. (a) : “THIAE T9A 799 fo gHE W |
A GLERdr fawer /et 3a%d [ i1
ufts ¥ ST 3TN 7
IUAT ANARR— @ ST § ITHE N GHEA A
YT B ST, 8T S 3TN Biell & |
|
- T Hied e &, RIS F oA |
e a9 7] R, qame & sl
41. g W wEar orer’ (AR @ adr’
feraRt TomTE 87
(a) AIET TH (b) R Hedl
(c) SH= (d) s et
Ans. (d) : “YS F @ GLr, AR B qqqr gHAR
TR F g ST £
IR AR B S 25 @R 1926 3. H FATRS H
33T 911 T WFE T
wreF— I qrel, Wi M @, Ffen, g o o)
weEt— a2 et @ il wHM, Tl @ e enfe |
fremer— 3d R fRmrerE, gved
Tl ATEeh— 3741 |
FHAR AT AR A WTAlfeeh Wi EHT e o
fepai
o 3G H UH fFA— Higd THY, TIT H TH TT —
Y Hedl, AN, W@, GAA- SHE % 9RE

U= B

39.

40.

42. 'S HT STANUT T 4T 7
(a) &I (b) F=
(c) &4 (d) &3 aTTH

Ans. (a) : S &Y & 37X 3131 & TEAT 9 39 gl 8
Tied e FEar 21 S T
FTENOT W o YR R a0 a2l &1 Fiiferior—
ITARUT T qut
H0G 3, M, & o, g N g
LIGRGIEC)) g, 5, 99t 9, W
7ot (=) %, T T TR
& @, a9t dmyg
i1y 3, %, 9t
T EehT (AHer) A, 8, 0,4
HUG-ATe T, T
FU3-S 3, 3t
43. ‘IR’ et fargraur e €7
(a) A (b) =
() 3™ (d) 3
Ans. (b) : T 372a AT i QST A ATt Y1l B
fergror wreg e free faivar aqrd, 39 favrsy #ed €
TS IR
Tergrer fergraur
afig AT
=B tfea®
ESL) am
TIRY N
THE THHH
CEl T
& RIEED
44, ‘dome’ ® i o H@3 7
(a) WTEETEE T3 (b) =AfhaT® T3
(c) SHarH |l (d) FwgdrEsh |3

Ans. (¢) : §T— G 39 fapll =g & &ed &, el
fopelt fordiy o, e, =afe, T SN 5=7 SNk & A &
sller &1 T e T

- T () et (zomH) sl

T & ufg 4T A I B
1. SARRaTEH 2. STfdareeh 3. 9rEdrEs
4. TUTETEh 5. SEATES

THaTeIw UAT— i i O vs @ fRE 5= @ Ay
g @ Y THaEs G wEd §1 AM- T, @, e
TS|
45. ‘99 WA ® AT T’ W RIA-9T HRh &7

(a) | HNH (b) TEE HH

(c) FT FH (d) &R HREH
Ans. (d) : 59 v= ¥ fFm & SMUR & &y @, 39
‘TR HH Fed ¢ |
Y- | 6 I § a2l

2. T B0 W Hl B
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46. ‘TR’ o1 G faese = &7
(a) M8 + U= (b) T + TX
(c) T8 + 3L (d) & + €=

Ans. (b) : 3 90T & AT ¥ 89 a1 faHR & W Fed
g1 me @ ©fy faeew weT + T &, I® T §f &
ISR 2|
WMHE- AR F AW FaIR T AT, T T F
R T o @ I o wEen T, S iR e &
ST N— W+ TE =R (A +3=T)
T+ ®Y = W (37 + & = 3N)
TR + S = TR (7 + % = 3)
FUT % SHR W G o 9 9 §-
(%) =R gy
(T) b5 HfY
() faat =fen
47. ‘WT I @Al WX’ FAVRITh T o 3ref g7

(a) HETAT OECEEER]

(c) Th ¥ gt T (d) T BT
Ans. (c) : T H Fa1 G Ahis w1 3 2- TH I
FEH T |
TRITTh— UG 919, 9 319ar 3 o 31 fafyre
o F MUR W Fag H & fordl o= A gk W Wk
3 & g9 diehiith o1 HEre hed § |
IEAT—
o WY T FIT U Fel AT (Ffed =AfE & a1 H B
=Afch &9 g )
o 07 2@ 3R T I ¥R 2@l (RRefT S @)
o TBT FIE 7 BT (T H SR TehR HIg 781 Bl

48. '@ =t gesT’’ o fTT U vTeE SaTga

(a) foream (b) TaT

(c) forfron (d)
Ans. (b) : “TH F T F T TH w3 T 2
o UM I 3BT — foremr

.Waﬁ@ﬁﬂﬁaﬁw—%ﬂﬂm
oGﬁWﬁmﬁﬁ—ﬂﬁ?{

o ST &l S Wle A & — FerT
o ST 3T — T

49. ‘Terswmea foteror ugfa’ o S=Aarar fyrem
TElt -
(a) AT aTgEA (b) Sehrelt
(c) Hew wewd (d) e

Ans. (d) : THFeumea forwr wgfd’ & Se@T SHAG &
iy el wifss faferaw v see &1 wied 3
(e HI TN, Thet S SN g R F oA S G
T gC Fe1 % foaed w am g, R aras w6 den
forers & T # @ H 7 Ak R % SER

BISCle AT - EICRCICH]
affes vl - swigm
fereat TS - EARCACINE
afaes frem - TRTAT T
50. ‘Wer’ @1 fere visg €
(a) Sifqw (b) 3T
(c) ST (d) TS
Ans. (b) : foeim &1 31d a1 8- Seer| Rl weg SfeEn
g% o & fauliq ot g T A veg ey FEand
g1 TR H fadm v ey 1 er famen siftm @
AT T T BT ST T Gl B 2
7@ faudarde yeg—
I ICEIL
Rl kR
EE FAR
T EnGl
E| CED
7 7
e TERO

1. SUTRIHe Breor o ferg eremmua wiskam @1

g 3feren feRaT TaT 7

(a) QISR (b) AfET

(c) At (d) =
Ans. (d) : TS fafr fwror it 39 fafyr & d@efilfa
FT 2 S o H 3T gEEsi B W FH F A
HEYTH el AR uriey & @y ek oy
F H qEg HAT & S 390 (e & e 4 feifa e
g1 SN RE § aee e g &1 gEm
Hfereh fomam ST 21
52. ‘weh fem et S ¥ T 9@

R i A e’

T wmfer =t e ufvmart &—

(a) qooll A3 (b) R G&

(c) Pre (d) feremafa
Ans. (b) : ‘T foem S H T W, O Y FE Al
T’ o G ) e o
T WE (1253-1325) 1 S0 UfeAE Hsl (T2T)
IR YA H g A1l T wRfeE SR qHERAT & AU wfes
21 ‘wferhardl’, ‘Sd-U-deear, TSNH-U-E g
g A §)
FS T@ dftwai-
1. T S W, §8 W A B

wn

T &9 9 faia g & 2 T GEE T AW, F 9 T 901

@ freror uegfe— (379 & N g W)
STeeA i - R U 2. Sl 1 W e for, A1 =/ A g

T ughy = IRy el (agcll : IRE)
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53. ‘[T SNHEYT % A@h §—
(a) TerTH (b) et el
(c) SNUYHT ATHE () TANSIGE e
Ans. () : ‘S[B SAHEHAT % oI ST dTeHE T
o = W W THEM TARA I S FA
‘MSHATE (1641 .) T ST B
o W 3T ST HigAad AR P ‘STuH-3TH
fifsR’ AT S 2
o UE I AHBATHR ‘TAURH i TEHA & AT
¥ gefear i wfmRdiEr A F g g 2l
o VAN fig S H S Fawh o TAT Al
3R B 9T W W R
‘et AT fe@TT’ geren @ ovef g
() TS (b) Forega oA B
OREMESE! (d) 3T a1 HEHL TgHMT
Ans. (d) : ‘Gl a7 fR@MT R &1 o1d 2- sl A
FEHL TEHA |
TETeRT— TETaN UHT AT g & S qwe ot v A
T FUH fRe faameror a1 ot wilifa Fua
- ¢ A TE- R W [ TR
g e F g - g s g
Gl YT — SIS =T |
55. o whdl Ueh [ShOT WUTW ohich ORI Tshem W
Her 2 &, A ugell fohar s shEerdt §7
OREEICERER OELECERER
(c) qashIer fopam (d) werE foha
Ans. (c) : ToraT— 59 w2 @ fo5edt &1 & A g
U ST, 39 R ed 2
Y- T, WA, ST e
ydertfoeTer feRat— @ &dl & frar T ek qud
foram & Tems a1 Ygw g @ T weel fRar qeeters foRa
FEerr 21
- I TR Ao R TE TR qEees
fopam 21
ToSTEIU fRaT— 98 5T % & & 3931 Wahe Al
21 8- & @ = €
ATHeiteres feRam— T stean fasim % Wy R Sed 9@
S e fRaT S 8, 3§ e R ded €1 S—
T HET (F0 + Fpam), & & (Faror + o)
e fohaT— e G e fohar o &9 § o7 &
Wy iR QW W H weEs ad 21 B uh e i
4t T T s fpam G B 2
SH- 7 g W@ 4 39 g g R 2 el w
TerTs foa 21
56. ''Thel ShTE WeheT W€ BSI
T AT g Tehe TN
BRI R I R~ 2R 82

54.

(a) 3T (b) g

(c) ®IH (d) 3=
Ans. (a) : “F FH FHA AR BE| I TEN T THE
JerE 117 Ufth H 3ok TEHR g1 fgd s W wEn
(40) 3T
57. ‘=@, ‘ugrg’ v ‘9’ feRm Wam 99 & ofad

IraT?
(a) WrEaTS G0 (b) SfdaT=eh G
(c) SHaTES |l (d) TUETES G

Ans. (b) : ‘T, ‘T@rE’ IR & F SAferar=es G 2
STferaTersh WT— o ¥ S e o e A fRe o
o # gEgel S 1 S B €, 5% SidarEes §w
EESIIR
IREU— A7, T, [, A5 goe |
58. ‘SHN ¥® TR @En ¥ %9’ fRd e @
Srereh &7
(a) T¥TaTES qH (b) =TS HAAH
(c) frsmErs gdam (d) A vagaras gaAm
Ans. (d) : T — T & ©WH VR T FE W A
Y=l 1 g el o 81 R # g1 e gdam #-
§, q, o9, 9%, 9%, W, 9@, FE, FS, FH, I
I F BE 9% 9 I E-
() qevarEs (i) FoEmEe (i) SAHTEEeES  (iv)
GarEs (v) HeaEems® (vi) T |
Ao ok waAH— 59 gdam g R fafvea
G I 9 7 @, 39 ‘AfTeEEas gdaH Hed ¢
SU-  3HH I 98 @
fereft 1 gest
‘frrmr wuTTedt’ AT I TR WeRw o fITereT W
Frar 72
(a) SHTT TR0 ST (b) W FRreaoT SomTedt
(c) FFT fYmeqor yomelt (d) T oRa fegor yomeh
Ans. (a) : TFHT Jo’ 1 ST SR fReToT Sotett #
Hfereh fomam ST 21
Forro yurei— e ol & Seem eRe €)1 g
fafer &% g foml, fosidl @ @ @ g@m & S
WM ¥ & S Fehel 21 39 fafy g arerhl & SROT
vt fasfad et 8, i 39 fafy &1 s&m s 90
AH FI 3F G AR B ST &1 -
1. 39 § I H AR 2. GH T WA P IR
3. 37 9 qT & 3R 4. 9T § foem @ SR
5. fom 9 Same # 3R
formeet sorreft faft, smre fafer o foresper oo €1t 21
60. ‘37T’ T AcHH T &7
(a) fA= (b) TTATH
(c) 3T (d) STt
!Am (c) : ‘3T F] GoIH V5 ‘ST BT 21 |

59.
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Language-II : English

61. Choose an appropriate conjunction for the
following sentence :
Strike the iron ............. it is hot.
(a) As (b) While
(c) Unless (d) So

Ans. (b) : f&@ T blank space F WH W appropriate
conjunction while (S@fe) T fopan SR H=iifes o
T sentence % Hd & 3TTER 3 Conjunction is not
suitable. "Strike the iron while it is hot". (T W TER
U 5 7 T 8|

Hence option (b) is correct answer.
62. Identify the correct passive voice for the

sentence :

'Please sit down'

(a) One should sit down

(b) I asked him to sit

(¢) You are requested to sit down

(d) Sitdown
Ans. (¢) : f&@ T3 sentence 'Please sit down' T
Imperative sentence 8 SISl passive voice— you are
requested to sit down. g Fifs AR Imperative
sentence — please Al kindly T start B AT end B,
THH request & WIF T Y AT 8| qAT 3Hb AT
Rule— you are requested to + M V; + Object.
63. Which of the following alternatives is

grammatically correct?

(a) Bread and milk are wholesome food

(b) Bread and milk is a wholesome food

(c) Bread and milk are a wholesome food

(d) Bread and milk be wholesome foods
Ans. (b) : In the given option (b) will be correct answer.

| (b) § wholesome food H

complete food 37afd TFUl disH @ @@ H TR g,
s9feTT Bread and milk & &€ main verb as a singular
form % &9 ¥ FANT fHar T 21

Correct sentence— Bread and milk is a wholesome food.
Direction : Read the following poem and answer the
question given below it. (Question Nos 64 & 65)
He gives his harness bells a shake
To ask if there is some mistake
The only other sound's the sweep
Of easy wind and downy flake.
The woods are lovely, dark and deep,
But I have promises to Keep,
And miles to go before I sleep,
And miles to go before I sleep.
What is the meaning of the word 'flake'?
(a) Drops of rain
(b) A small thin piece
(c) Both 1 and 2 are correct
(d) None of the above
Ans. (b) : In the given poem— The meaning of the word
'flake’ is— A small thin piece
The meaning of the other option—

64.

65. 'deep' and 'keep' are ...........

(a) Simile (b) Metaphor

(¢) Rhyming words (d) Alternative words
Ans. (¢) : 'Deep' and 'keep' are— Rhyming words.
Rhyming words— Rhyming words are two or more
words that have the same or similar ending sound.

66. The use of technology to enhance the learning
process is called .................. in education.
(a) IT
(b) ICT

(c) Information technology
(d) Communication technology

Ans. (b) : The use of technology to enhance the
learning process is called ICT in education. Information
and Communication Technology, usually abbreviated as
ICT, refers to the mode of education that uses
innovative technology to support and enhance learning.
ICT tools for teaching and learning cover everything
from digital infrastructures such as printers, computers,
laptops, tablets, etc., to software tools such as Google
Meet, google Spreadsheets, etc.
67. The sentence 'John will be leaving for England

tomorrow' is in :

(a) Past Continuous Tense

(b) Present Indefinite Tense

(c) Future Continuous Tense

(d) Present Perfect Tense

Ans. (¢) : f&@ T sentence John will be leaving for
England tomorrow is in future continuous tense.
Structure of future continuous tense— Sub + will
be/shall be + v + ing form + object.
68.  Which of the following is a complex sentence?

(a) She lives in a locality of her liking.

(b) Ravi did not like that bearded man.

(c) He reads what he likes.

(d) Ramesh is a man of robust body.

Ans. (¢) : In the given option (c), He reads what he likes
H complex sentence fopar T 21

A complex sentence is formed by adding one or more
subordinate  (dependent) clause to the main
(independent) clause using conjunction what/where/
when (relative pronouns)

E.g. — He forgot to give the teacher his homework when
he come late to class.

69. The teachers in English Medium
usually teach their students in :
(a) the direct method
(b) the grammar-translation method
(¢) the bilingual method
(d) the structural method

Ans. (d) : The teachers in English Medium Schools
usually teach their students in the structural method. It
is a language approach that gives priority to pupils'
activity, spoken language, multiskill approach,
situational teaching, etc. The structural approach is not a
method of teaching. It is an approach to language
teaching. The modern trend of having a systematic and
scientific attitude towards language teaching has

avolved-thae St
Svorveatieott

Schools

ffffff Annraa angnoga tonaching

nrnpa of rain — I 5% H;?

1
Crarar Y P pProacHtoTat S ut S otCatH ST
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70. Find out the subject, in the following sentence :
The beautiful rainbow soon faded away

(a) The beautiful

(b) Beautiful rainbow

(c) Rainbow soon faded away

(d) The beautiful rainbow

Ans. (d) : In the given sentence "The beautiful rainbow
soon faded away", the word "the beautiful rainbow" is
subject as subject is a noun or pronoun. So rainbow
(3=q¥) is a noun and beautiful is an adjective which
add more information about noun.

Hence, option (d) is correct.

71.  Supply the correct article in the following

sentence :

J 2ETo] 111 1 (R one-eyed man.
(a) A (b) An

(c) The (d) Some

Ans. (a) : & T3 sentence F blank space F WH T 'a
1 FATT fHar SRR FHifH sentence § &3 T word are
& sound ‘@ S fF consonant sound & THAT F&f W '’
article ST ST feam e |
correct sentence— Raghu is a one-eyed man.
72.  Which of the following words is plural?
(a) Child (b) Cattle
(c) Section (d) Solution
Ans. (b) : In the given options, option (b) the word
'cattle' is plural.
e T faspent @ meaning—
Child — a1, TR Cattle — 7], Farsft
Section — 3731, 9T Solution — THTEM, F9eRTI
73.  Which of the following nouns is in plural?
(a) News (b) Economics
(c) Tennis (d) Crisis
Ans. (¢) : ‘o"‘Tﬁ?ﬁ famedt § faswed (©) T The word
'"Tennis' is in plural. I I ey singular ® AT
fepa T 21
Hence option (c) is correct answer.
74. Which of the following sentence is in Passive
Voice?
(a) My nerves are bad tonight
(b) He takes his classes punctually
(c) A letter was written by him yesterday
(d) It looks good and gracious
Ans. (¢) : a3 T3 fohedl | (A letter was written by him
yesterday' sentence is in passive voice.
structure of passive voice.
Object + was/were + V3™ form + by + sub
Note— f&&T T sentence active voice H T past
indefinite tense ® & passive H change F T past
continuous (was/were) § change ETald

75.  Fill in the blank with correct preposition
Neither he is sorry ............... his father.
(a) Or (b) Not
(c) Nor (d) Either

Ans. (¢) : f@@ T sentence & blank space F WH W
'nor' conjunction bl ST ﬁ?ﬂT ST SHif% Neither &
o1& as a conjunction % &9 H nor &I AT fHa1 ST 81

76. Add the right suffix to pluralise the word
'Dictionary’ :
(a) _en (b) s
(c) _ies (d) _es

Ans. (¢) : @@ T3 f@Fcq § The word dictionary ¥ the
right suffix 'ies' &1 RN {3 e
Dictionary + ies = Dictionaries
I 3 fawed 39T (not suitable) 21
Hence option (c) is correct answer.
Direction : Read the following Passage given
below and answer the questions (Question No. 77 and 78).
The Ganga especially is river of India, beloved of
her people, round which are intertwined her racial
memories, her hopes and fears, her songs of triumph, her
victories and her defects. She has been a symbol of
India's age-long culture and civilization, ever-changing,
ever-flowing and yet ever the same Ganga. She reminds
me of the snow-covered peaks and the deep valleys of
the Himalayas, which I have loved so much and of the
rich and vast plains below, where my life and work have
been cast.
77. The Ganga is a symbol of :
(a) India's rich green growth
(b) India's rich minerals
(c) India's age-long culture and civilization
(d) India's bright future
Ans. (c¢) : The Ganga is a symbol of 'India's age long
culture and civilization'.
The Ganga is a symbol of faith, hope, culture and
sanity, as well as a source of livelihood for millions
since time immemorial.
78. What are the things loved by the author
mentioned in the given passage?
(a) The snow-covered peaks and the deep valleys
of the Himalayas
(b) The rich fields and forests
(c) The flowing rivers and streams
(d) The snowy peaks and the deep valleys of the
Himalayas as well as the rich and vast plains
below.
Ans. (d) : In the given passage, the author mentioned—
The snowy peaks and the deep valleys of the Himalayas
as well as the rich and vast plains below.
Hence option (d) is correct answer.
79. Fill in the blank with appropriate preposition
in the following sentence :
I must congratulate you
results.
(a) At (b) To
(c) On (d) Upon
Ans. (¢) : f& T sentence & blank space F WH |
'on' preposition T AT foRar S =S congratulate
Y18 % % on preposition & AT {1 ST 81

The correct sentence— I must congratulate you on your
exam results.

Note— T &9 ¥ B¢ WM & WY 'at’ F T H &
A9 IS W F Y 'in' H T F B

E g Llisvze at Allahnurin Pravagral
— T — J O

your exam

Here-option-(e)is-correct-answer
Pt S Aiiians s
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80. Fill in the blank with suitable article in the
following sentence :
Yesterday ............. European called at my
office.
(a) A (b) An
(c) The (d) None of the above

Ans. (a) : ST sentence & blank space F WH W
suitable article (a) T SANT a1 AW, F=AfH the word
European ® Wgell sound T & S % constant T
Constant % T8l 'a' article 9T Vowels (a, e, 1, 0, 1) &
TEd 'an' article 1 JANT AT ST 21

81. Fill in the blanks with suitable articles in the
following sentence :
............... Ganga is ............... sacred river.
(a) A, the (b) The, the
(¢c) The,a (d) A, an

Ans. (¢) : f& T sentence & blank space F WH W
3UYh (suitable article) "The' T 'a' article =T T foRa
SRR i Ganga is a particular river SHfATT TS T5
article "The' &T ST {3 S|

The correct sentence— The Ganga is a sacred river.

82.  Fill in the blank with correct conjunction.
Walk quickly ......ccceuuee. you will not over-take
him.

(a) Lest (b) Nor
(c) And (d) Else

Ans. (d) : In the given sentence, in the place of blank
space, 'else' will be used. Because as a conjunction, the
use of 'else' is suitable answer than other option.
The correct sentence — Walk quickly else you will not
over-take him.
Hence option (d) is correct answer.
83.  Fill in the blanks with the correct article :
Rajdhani express is considered as
(1) TC1) fastest train in India.
(b) The, the

(c) A, the (d) An, the
Ans. (b) : f&& T sentence & blank space F YH W
'The, the' & AT fFar S@W, e 98 W 9o
sentence ¥ train T Eg@ sentence § superlative degree
& w&m fhar T 2 g9 gHI & U8 article 'The' &l
YA fepar ST 2

The correct sentence— The Rajdhani express is
considered as one of the fastest train in India.

84.

Which prefix can be used before all the

following words proper, polite, mortar,
movable
(a) Un- (b) 1I-
(c) Ir- (d) Im-
Ans. (d) : @ ™ T (Proper, polite, mortal,

movable) % Ugd correct prefix 'in' bl TN fRa SR
S9! meaning—
Improper — 331_:[%?[ Impolite — 379, Immortal — 3{qT

85. Which of the following words is an Abstract

Noun?
(a) Gold (b) Crowd
(¢) Humanity (d) Tea

Ans. (¢) : feg 73 fawedi § The word 'Humanity' is
used as an abstract noun.

Abstract noun — An abstract noun is a noun or noun
phrase that names an idea, event, quality or concept.
Exp.— Courage, freedom, love patience etc.

86.

Plural of maximum is ...............

(a) Maxima (b) Maximum

(c) Maximus (d) Maxis

Ans. (a) : f@@ T word 'maximum’ plural ¥
maxima 81T frgent meaning—

Maximum — ST&T § ST&T

Hence here option (a) is correct answer.

87. Add the right suffix to pluralize the word
'Memento'
(a) _ies (b) _ys
(c) es (d) en

Ans. (¢) : The word 'Memento' & right suffix 'exes'
3?941?[ mementoes S % plural noun grm forh
meaning—

Memento — Something that you keep to remind you
somebody/something (Ffd-f=r=)

88.

Identify the gender of the word 'czarina’

(a) Feminine Gender (b) Masculine Gender
(c) Neuter Gender (d) Common Gender
Ans. (a) : The word 'czarina' is the feminine gender.
Y czarina Th noun & mﬁaﬁwmwé
S9!l meaning— czarina — &9 & 9T

Feminine gender— A feminine gender denotes a female
gender, it is called feminine gender.

Eg.— Girl, women, mother, wife etc.

89. Fill in the blank with the appropriate
preposition :
The coolie carried a suitcase ............. his head.
(a) on (b) by
(¢) in (d) at

Ans. (a) : f&@ T blank space F WH W® appropriate
preposition 'on' T YA fFAT ST =AfE 'on' BT FATT
TIH-TT % A B AT BT 2|

The correct sentence— The coolie carried a suitcase on
his head.

90. Which of the following word is plural?
(a) Oasis (b) Radius
(c) Stadium (d) Alumni
Ans. (d) : 3"@?5 fa%edt § The word — Alumni is plural
ML) WWasasingular%WﬁWﬁﬁ@%l
fSTE# meaning—
Alumni — 38 BH
Oasis — F&EId & o9 gRa 4fF (wofi wo@)
Radius — fsam
Stadinm — HIET TIA
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Language-III : Sanskrit/S%ha

TRt fReTer Wt e faflr -
(a) Frmes (b) 3WTHEA
(c) 3T fma fafr (d) 3 iE T
Ans. (c) : SaTeRUT Trerur it g fafr—‘smrA-frma
fafer 21 5@ fafy & gl Se@eT adEn S @ R fem
F fafg #F I 1 98- fammesneE: (M), 3@
T (3T) & T W FAT G, T §Hh U 3h: Tuf
e’ g 9- I 1% (0, 5, 3, ®, @) F 9% 99F VR
A @ DA b e § e w2 gl
o femaned: = fammer: (sm+3Ti=3T) M W YR
s R # smA-freme B & g @ 81 s
fafr % S 3 § 1
62. THAT ok el ohl ST ATATAHATAT hl SIS

T 3T ford YR WETIAT Shidl—

(a) A Teal I SFTURUMT T &1 O VS d

(b) T IH AT B T FHEHT

(c) TATHS THHRT THT

(d) 3TFuROTET & SR H a=E Hl AU THI H

S U T ST IHL

Ans. (d) : F&T & srdl i 3! TR H a5 §
AT ‘SFEUNUNS & IR B g HI A G F
F F A IR WAl HAT| fRR o awg v
fowa W sl B AR T GEY 8?7 A WA & [
Fedl I ST HGATT H ST H TR J&F Hh I
TN T G F ST ST Gebel 2 |
63. HTGNTST HE= kT TTeTiereh Sh §—

(a) ST, AT, Tel 3R o

(b) ST, AT, forEaT S geT |

(c) YA, ST, Tel 3R o

(d) g1, T, e, fera
Ans. () : FGI ¥R H1 @S FH G, AT,
Tl IR e 21w U IR e § ugdl
T § 3 IHh IFET FAER B &, T T F A
gl @ a9 98 YAl we-ger, ad-are e wrsdl
FICHT ST BT 81 37 Q1 SX01 5 ITEN A, e
el deqveT forgH @ A S ST U €, 39 YR
foreft ot oI 1 ITFT Hg HrEd & SRl H- A,
aﬁw,q;maﬁiﬁa@maﬁﬁlﬁ@qﬁ,sﬁ‘g—aﬁ—q—%’
of e §1

61.

64. EaAT IS &—
(@) W . (b) wifeR
(c) TYEHICAT (d) =T

Ans. (b) : 758 X9 H ‘G IO AL TG R Hi
M B 21 Wi ¥ SER-RE I S

Ans. (a/d) : 53 & T&pa § T Goure Husaed Hed
F1 39 999 % S A & fGhed (a/d) W &1 53 & A
ToaTe, SR Froeare & shed & |

66. ‘'UTET UEASh YT UG BT ok forar ferdt el
1"’ ug e feraent §—

(a) a1 (b) T %. fafad
(c) HH (d) B B
Ans. (¢) : ‘TGT-T&H T: 30HE B & ford foredt s

2 T FAT HHAS H R

67. SUSTEY YU fR frarr & forg Suges §—
(a) SATHLOT F¥reqor (b) Hrex freror
(c) T R (d) oRa fameror

Ans. (b) : U ST e erT & fofy U 21
HTRIUT Teror—aqretor Reor § e @i fme
TUTTAT T ST &Il 2 |

wen Wrgu—sen o § gy iR @uered
TUTTEAT 1 S9N fhar ST 21 59 fafy § vsdl @ @ue-
U Hleh IR NG AL, Teh H1Y A fhal ST B |
Te-rer—zg e § wErt W e oy e
SN fhar ST R

T Rrerur—gad o ey & sE § S 2
68. HiRaer wraT - fyterur St wemrer farfer g—

(b) srgfafa

(d) 47 @@

Ans. (a) : Hifas aoT-frmor & s By amor 2
am feor § & yq@ fakEl @ swEm fhar S @)
oo worer 9 orvemer fafyr g1 wmor fafyr, e fafyr &
I S 21 uW A faREl sewy fafy % e
G il

69. ‘THizW’ e 1 e §—
(a) FeT (b) &
(c) F (d) o g

Ans. (d) : FEW v== &1 o1d ‘g9 A GfF 7
FeAT-fhEl I W T TS IS HS FET|

ST
wHE-E
70.  TeIUA (55) SRl UEhd | oI Sheil?
(a) 9=ETEId (b) TSI
(c) Togafd (d) gs=IRTd
Ans. (b) : 79U (55) P Hpd § ‘Toau=a FA|
TSI — 50 ()
Jeg-aid — 95 (F=ard)

ITST TR I a1 A 3 G I ) 71. mﬁﬁaﬁ?ﬁwmm
65. 53 oI HEhHd T ed o— ot =i &2

(a) FI: TSETE (b) FT==TIA (a) RG] (OREELIEHIRES

() ﬁmn?rr!ﬂ:}r\ ) ﬁ'U_TT'l')'T? () 30¥YsH (d) grafgeiaiEm
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Ans. (¢) : fFafafaa & @ ‘SeagT Ffa wemsfa Hifea
fofaa 781 81 98 TeheR Wi g e 13 e § 9
%, THE AeF ¢ 3 e (c) 98l & U 3 AReH
HIfeTard & 81

1. ARG, - 7 g
2. ferspareeiam - 53
3. AR, - 5 g
72.  ‘oft’ vieg werm farwfsh Ueh-a= 1 w9 E-
(a) o (b) P
ORERE (d) foramg
Ans. (a) : ‘Y w2 v faufR O = o w9 o 2
i-cterll (Sprr whfere)
Thaed  fgaem wgeaee
ARG fareit fra:
fafa  Brem foret B
CACANERE D] A oifer:
afy.  BR, BR sham sfter:
9fq.  BrEm, B dam sff:
sfy BEm, B BEm o o,
a7 of:! g B % B
73. ‘ot Trg] uventh’ @t W Ao W uRafad w
W &Y Y ET—
(a) wan forg: gwad (b) WA g gwed
(c) @ forg: qead (d) 3% fryg gwad
Ans. (a) : ‘2@ RY Ty’ & &H a7 # oRafda &

W &Y ‘AT R qvA’ 9w g THH &y ared ¥ H
g=a # gRafdd &= Wl g fwfE, w9 gemr
foufad o fofear wfares & &4 & oFHER Tl #
gRafda & &

I faweq (a) TE R

74. ‘uTfTAT O gererafa’ B UTiTT ek §
(a) STUEHHNH (b) AR
(c) Tl HRH (d) T FH

Ans. (d) : “TOHT T& Feferafa’ § WA ‘FOT IR
I ‘HIghdH O - o1 & @t fafy # wdt e
HoY 31 W ol & 39 0 ded &, S9- BT 4

Ans (d) : 3TER FT SRV W TGS 2|
| o7:_foped (d) W& § qor I o
ﬁm % g7 fm yR ¥ §-
1. 3S-IYUEHHAMM 3i- 3, U, %, 9, 9, H|
2. ?ﬂ@—sﬂ?m:ﬁ Td-3, 9,8, 3, &, 9, 7, Ul
3. HUs- [ $03:-31,%,9@,7,9,§, T,
fort

4. qE-FZOE-E, T, 3, T, 7, 7, I, ¥
5. TI-TqAHH &: - @, d, 4, &, 9, 9, 9, H
6. ATER—SSIHEE AIfYeH 9 &, |, §, 0, A1
7. FUSAG-TdT: HUSAT- T, T
8. FUIMC-AEHHUSS- 3, 37
9. RrRamea-Rgarceiee Searer-

xch,x{d
10. SULHFRI- SULHIIE SUEATIEH—

29, xT
11. T8~ FhH T<IgH- Tl

)

76.  IMFE-+ST9: ST WUHA €T FTT—
ORUEERE (b) E=T=:
(c) wniFw=: (d) wnfera:

Ans. (a) : MG+ H1 GiFd &9 Iigesa:” gl

g?ﬁ: - 9§ THR AT q97 ISR AT T
¥ oy 2, 1 GHR A1 q % WM W T F IR AT

=t g S @ S9- wiEesta; # 7 qart &1 gee quof

2 om: aaﬁwmaﬂfqﬁaﬂwﬁq+w =

‘Wfgesa:” &9 fag g 2|

7 fehed (a) W& 2 99 3 fahed 39 £

77.  SUHWTH H HHE ENTT—
(a) HHIRA (b) FaA TIE
(c) 5% (d) T

Ans. (d) : STPOT F rerliaE GEE T

- fqafed, @i, w9fs, Fhe, datvE, 3=,
gwifd, WeR-NIgHE, UREN, e, RIREES
Ugyy, g, g, aﬂaaﬁg@wqawafﬁawﬁr
WW@WWWWWNWTHW%
wﬂtr@agr farhed (d) T 31 W Fbedl % IET e
W —

T F 9T ¢ 39 W e # g () || 78, A W i U g—

e & o1 YT § 0T HRH q1 HgehUregdrar (a) 3@ (b) T

T § g e e (© T @@

I7a: foshed (d) & & 9 fahey F - Ans. (b) : ﬁn:rﬁrgimqﬁ% u%

1. SUTEA - HURH FAF| *ﬁiqm’w %‘E‘?ﬁ@

2. RIS — ST HE | Fed &1 T e §ea H 22 %l@ﬁ—q T,
e _ = Y, TW, o, 4, 4, R, 3¥, g, 4, ome, f, ofy,

3. ¥ v, aif, g, 31, @, 9f, OR, ST

75.  SITEIR T ITeT T & 37: foshed (b) TE & I 3 fahey S &
(a) 3T (b) T re-3uet v & g e o1 # uRada X 3 § a
()P ()= mm(w\ﬁ;mﬁgmmﬁtﬁmﬁnm%ﬁﬁl
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79. 3T IR & -
(a) T (b) T
(c) = (d) Ju:

Ans. (d) : 37599 Y= I’ G 8| Ui AT UH vsal
& Fed ¢, e @&y # HiE f[GHR 7 3= &1, S gal
- ® S fauf 999 95ad | #E fGER T @
ITH! T VR Fed §1 O TEAER fahew (d) wE
1 7 G YR & ad1 o 9 g ferbed e, qU, g
anfe 3o €1

80. 'ITdHIAT’ % TOTHN 2—
(a) ©. TS AT (b) STI<d
(c) el (d) 3TEeh

Ans. () : ‘IAFTT & TAHR R’ &1 F TA-

1. JER WS 2. A YA adr 3. s |

T AfARed AEEIEE’ S SR T 21 3T:
fohed (o) T & I o7 fashou—

1. 9. TS S-NG-TTTETeR, it faemg anfe

2. SERg-Tfamfa< (Hfqere)

3. ITHEH-IHEHYAH —(Mfawe) T

81. 'ORE’ R Hihd W ohei—
(a) TSN (b) =TT
(c) T (d) T 9 FE T

Ans.(c):?ﬁ’ﬁmﬁ(ﬂﬁ?’ﬁlmﬁﬁi
(Suigh PR s S SN Nl
TN ®Y T 3G 9T (c) TE § UY 3 faweq
ST &

T TTEIYT o STTEN Y99 . 82 & 83 o It a—
W:ﬁ?ﬁﬂ:gﬁzmmm:m:
FAT A | Flafe T T eRTer a9 A a9
TY: o ara qui TR WrEeTel T gefkn at
vt @

Teefta: seaT: |am IThi?

(a) af== (b) Af==m:

(c) gafaumar: (d) mImE

Ans. (b) : fecfia: Afee=m:’ Tam et |

feefty F=ft < a1 F 91

77T AW ¥ R W0 21 WA U W 2
THH AGH ™ St E | WEY ¥ Fa 19 @i §1 3w
wEHe § 19 g ¥ T % po H 3= 31 Tonsi
3o 1 TEH YUE W G

82.

83. IS T YfafeH ol a7
(a) TR (b) T
(c) & (d) &%

Ans. (b) : TST 7 Hfdfed ‘a9 A

T M (Afed) @1 ufdfed o9 § @ €1 e el st
T &t o § FWUT H T Al T B

| ST Sfdfed T B a9 W o S 2| T e # A ue

waﬁTwaﬁwmﬁwﬁ% TRUT Y8 I YHEENI-EIS:, TR, SR, gRE:,
84, Feaw vIes % el farwier, agae ¥ g B | |, ST, gl g s
(a) ﬁa@g (b) ﬁa@g IR H gAgaE-Th:, afe:, sae:, H;ﬁa:[:
o= Uy ﬁ?”é’i Efelled

Ans. (d) : ‘RE® v=2 & g i sgaeq § faay’
w9 T 2

feaw (fem) sramr gfeerg
faafem  Twa=m fgara= ERCECE]
T [ECIH et feera:
g femEy feert faam
g feeEa ey faa:
Tqff  feewE feammay  feag:
T [GERIGN feaaramy faag:
T feame [EERRIE [EERIEILN
ki B e fearer: GGk
Faee @ fea! g feadt! R feom!

85. ‘St vIsg ok wUHT frwfh Uehde T w9 fe
o 9 * §?
(a) & (b) &
(c) Tt (d) 7@
Ans. (2) : ‘T’ I F T Gl ThaEa w1 ®9 &
|
& = geRRT Bhfog 188
faafem  Twa=A fgara= g
AT & :ﬁﬁ EBH
ECIRIT it Tt T
g T
Gt I: BEEI BEIR2E
LS| T TR BEDIEY
TeE TEe & EEikH
e g AR il g !
86. ‘Tug’ visg T yTtTET= foA ® | i TE 7
(a) fage: (b) ST
(c) STsh: (d) dr:

Ans. (a) : ‘g o= 1 wHiErn fuger’ 78 g1
figea = am=y/@E (9 &1 %)
g v & gateardi- S=TR:, S, A

87. TS ol Uhd | ohad &—
(a) TTRUT: (b) =r=:
(c) TR (d) fi:
Ans. (d) : I H G&ha ¥ ‘e’ Fad £
qaY: — ﬁ'on
TR — THUT
THR: — TR
HAA I B YA,  Hifhe,  HIHUE,
qE=Igd, TAMN AN |

HIST I1e8 HT TSN —Fleh:, aTIG:, AT e |
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88. ‘ITgell’ W Ao Wpd IISg B
(a) & (b) IR
(c) hidem (d) &4

Ans. (b) : ‘ST’ T aATEE HGHT VR FMGT B
T~ 3T, FE-3TFeA, FIAH — B, Thel: — el

89. 'SHTERIUT Ugfa' Rl Tt H W FoRE 3 AW @
oft ST STar 8-
(a) TERMA TG (b) TSI TS
(c) TrET=iieRT (d) ferendtetor

Ans. (b) : ‘SHWT UG HI SIS ST & A9 F
ST S 21 39 faft # gy, g9 o ffeerm % g
e | SR f&ar S 81 5w falr 5 wie a8 @
fo6 78 forerss el ugfa 21 39H ®F W &I &7 faa
ST 21 59 fafy # Rreor % 9/ wiwd § ¥ Head Q@
FHIPT, a7 N T A 93T W & R fam S R

90. To=T ® | i |1 ault @ wU T E—
(a) T (b) T¥I=H
(c) dEh (d) T

Ans. (d) : F/=1 § ST &9 Ao # H& 2, Ao 9r
ThN & B 2|

1. dEd-dEh e 4 fFFad ? &R 3R § SHeh
3 & HH A R

2. we-gEd aoft AeE @ St YR % wiE srEwel §
Fedt 8, oid, Wi, T, HUa, g T A gorEed ¥
IS T T TR0l BT 2 |

3. Q- ol T @ SRR 9 ¥ gty 2,
forarl a1 Sfed W grE B & |

4. Teg=-<tdt weEwd ol enen ¥ e § i gwd
ot G THTA B

Ae— T 1 3 YA Bl & TE AN B FH T 2

Mathematic/ITiuTa

91. If 15 workers can build a road in 48 hours,
then the number of workers required to do the
some work in 30 hours is :

Ife 15 AT Teh WSk &l 48 o2 o 5= &,
St W A 30 HeE H wa & o swavaw
TGl et UEAT &2
(a) 18 (b) 24
(c) 20 (d) 22
Ans. (b) : M; =15 M,=7?
T, =48 T,=30
M, xT; = M, x T,
15x48 = M, x 30
M, =24
92.  The least positive digit x, 890 that the number

324x342 is divisible by 11 is :
9g =AW 3k x ¢, R fog e 324x342,

11 ¥ fowrsa &1, &— p_1027
(a) 6 (b) 5 q 10
() 3 (d R a=10

Ans. (a) : 324x342
11 ¥ foarsa g9 & fog
oo T & SEmsl =2+3+4+3=12 &AM
TH T T G H AT =4 +x + 2
11 ¥ faufsm 8 & o =6 +x

(fm o= &) demst & )

~(qH T F e & 9m)

=0,a1 11 ¥ fqufm &
6+x)—12

= (6+6)—12 ={x=6, W W

The ratio of area of a circle and the maximum
square inside it will be :

T& I 3 30k I a9 AT AfHhan a9
a1 % SIS T STTUTA—
(a) Proportional to the radius of the circle
a0 1 B & gEEgR 8
(b) Not depend upon the circle
ga W Rk 7 gm
(c) Proportional to the side of the square
it &Y T & FHEIR g
(d) Equal to the diagonal of the square
it & ool & SR g

Ans. (b) :

93.

A g9 W e r R
A S = a
V2a = faeol
2r=+2a
a=+2r
i H &TBA = a = 21
I H EARA  _ nr m
T @ G 2r 2
If 102.7 is expressed in the form of p/q in lowest
form, then q is :
gfe 102.7 R p/q % TAAH ®T ¥ <k Twmaw
T A q -
(a) 9

(©) 3
Ans. (b) : 102.7 = %

94.

(b) 10
(d) 99
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95. A sum of T 600 amount to be ¥ 720 in 4 year by

simple interest what be its amount if the rate of

interest is increased by 2%?

% 600 TTERUT ST i ST 9§ 4 96 H T 720 |

T 31 Al ST Wt W 2% s o 9, v

Ig & feha=T 3m—

(a) T792 (b) 768

(c) X724 (d) 748
Ans.é(b):?600 YR A X H 4 98 | T 720 @
Sl @ |

_ PRT

100
4 99 FH =N = 720 — 600 = 120

600xR x4
100

SI

120 =

R=5%
S & W 2% FeT & -
R=7%

_ 600x7x4

100

=168

gq =168 + 600
=768%

Which of the following is not true ?

Frefafiad # @ w78 8-

(a) The sum of the two integers is an integer/
& quifes T AT Teh qUTish BT @

(b) The sum of the two rational number is a
rational number/al GeTett & A Th
qRHa G 2 @

(c) The sum of two irrational numbers is an
irrational number/al TS H AN
S URAT e A §

(d) The sum of two natural numbers is a natural

SI

96.

The natural number nearest to 3070 which in
completely divisible by 17 is :
& 3070 & waittew e 17 ¥ oft @

Fereiorar 819 aeft Wrahfares wEeT $—
(a) 3060 (b) 3070
(c) 3077 (d) 3068
Ans. (¢) : 3070 & Taiees e 17 § fawfSa &= arelr

@& 3077 21
17)3077 (181
17

98.

99. The ratio of cost price and selling price is 5:4

then loss percentage is :
T e iR fosha goa & oguE 5:4 €, @
BT wferoTe §—
(a) 20%
(c) 40%
Ans. (a) : hd T = 5x
fasha o = 4x
B = T o — fasha g

=5x—4x=x

g % =

(b) 25%
(d) 50%

T 00
o A

=% %100
5x

=20%
100. If the diagonal of a cube is 8V3 an then its
surface area is :

afe ferdt o =1 faewut 83 9. ¢, ar ST

numbers/a  WFfH TR FH Th TR ETheT §—
TEHE G A & (a) 192 cm’ (b) 512 cm’
Ans. (c) : & 3{URAT @A & AT TH URET Al (c) 768 em’ (d) 384 cm’
R T & el 81 Ans. (d) :
3aTeilT— a
45 +25 =65 — oufET wE e
2-632)+ 632 =2 — URHT T
( ) o 1 i = \f3a
97. A number exceeds 20% of itself by 60. The
number is :/&E FET 30N 20% | 60 AIH V3a =843
%’ ag -{:i@-r %_ a=38
_ 2
(a) 55 (b) 45 T &R = 6a
(c) 65 (d) 75 =6 x 64 ,
Ans. (d) : 9T HIE & x 2 =384 cm
=20 101. Area of the part of 120° of a circle is 66/7 cm’
x =60 then dian}eter of the circle is (7=22/7) :
100 Teh g1 H 120° & WU & ATHA 66/7 9t aOF
80 —60 I W A B (n=22/7) :
100 _ s (a) 3cm (b) 3.6 cm
= C) 2-5Tm \d) OCIT
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Ans. (d) :
360° — 100%
@ 1200 %%
gd ol @W =t
2

2><r2 :§x3
7

r =3x3

r=3 a9

=M d=6 9.

Ans. (d) : [599 T 981 &I 75 &9 § a=dl & |
fasha e = 75
Wﬁ%:mw_wwxloo
LRl
ITATENR, | % =x
$HI I =x
_15-x

X

x100

X

2
X

—=75-x
100
x*=7500 — 100x
x* +100x — 7500 = 0
x>+ 150x — 50x — 7500 = 0
X (x + 150) — 50 (x+150) = 0

x =50, - 150
AT % = 50
%9 T =T 50
et fafr— A1 %9 967 50 21
e % =2, 100
=50%

102. If the diagonal of a square will be double then
area square will be :/afq feReT a1t & faeRut @t

TRTAT Y Team S, 1 Sthel &RTT—
(a) Three times/M o

(b) Four times/=R 7ot

(c) Same as/3aT &

(d) Eight times/3Ti3 o1

Ans. (b) :
2\/5a
\/Ea a X
dl = \/Ea X
d, = 2\2a
\/EX = 2\/53
X =2a
T A = x°
= 4a’

103. Vinay sold a watch in ¥ 75. He gets profit as the
same s cost price of the watch, then cost price

of the watch is :/fa=ar T oSt T 75 T ST
@ 30 g &t AN Siud o SeR gievTd

104. If the distance between the centres of two
circles is less than the sum of radii of the two,

then they:/ﬂﬁﬁﬂ?ﬁ%ﬁ%ﬁﬁaaﬁﬁ
ST Forsamell & o @ wmH A, A F A ge—
(a) Touch internally/3T=7: Il <l

(b) Touch externally/aTegl &3if g

(c) Intersect each other./fer=afed H&t

(d) Contains one the other/3THIgd Har

Ans. (¢) :

(1) <d<(rp+r)

;2 39 SR #)

105. The missing number is the pattern 1,5,2,10
.......... 15,4,20 is :/37& fa=ma 1,5,2,10 ...
15,4,20 W foeqw 9w -

(a) 0 (zero)/0 () (b) 1 (one)/1 (Tsh)
(¢) 2 (Two)/2 (a) (d) 3 (Three)/3 ()
Ans. (d) :

I = I = Il = I
1 5 2 10 3 15 4 20
| Il Il |
+1 +1 +1
106. If a and b be any two positive integers which on
division by 6 earn remainder 4 and S
respectively. Now the remainder when a’ + b’
in divided by 6 is./af a X b T Ik
HEATA W 6 W I it W el HA:

4 AT S AMA B &, a8 W a’ + b’ 6 A

T BT &, A Tt Y AN Yo o 82 FreTRAT ST T ST $—
(a) T 150 (b) T175 (a) 4 (b) 5
©)>Z 60 (@ %50 (c) 6 (d) 1
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Ans. (b) :
6)a(r 6)b(q
4 5
6r+4=a
6g+5=>b
a’+b’=36r" + 16 + 48r + 36q° + 25 + 60q

= (361 + 48)r + (369 + 60)q + 16 + 25
= (361 + 48)r + (36q + 60)q + 41
J

6 G oo 6 9 oo
gt gt
41 H 6 | UM 24 W 5 9Y =

If the side of a square is increased by 10% then
percentage increase in it's area will be :

Ty fereft ot &t =11 10% & gheg & & T,
A IHF A% | fopa=r wferera st gfeg Eft?
(a) 10% (b) 21%
(c) 44% (d) 100%

Ans. (b) :

107.

AT & F ST = 100 .
10% t gfg & W =110 I,

2 2
&ahel # JE %=%x100:21%

The product of the age of Mohan before 5 year
and after nine year is 15. Then Mohan present
ageis:/th%? 5 @waw9aﬁmw
T UGS 15 ¥ 96 We dl ada g &7
(a) 4 (b) 5
(7 d 6
Ans. (d) : 5187 & SCHE 37 AM x &
5 3 98 &l 3T =x -5
9 9% d1& H G =x+9
FEATER- (x-5)(x+9)=15
X +9x—5x—45=15
X +4x—60=0
x>+ 10x — 6x — 60 =0
x(x+10)-6(x+ 10)=0
x=6,x=—10
A 3Mg = 6 a9
109. The value (0.00032)" is :
(0.00032)"° =T ATT T—
(a) 0.080
(c) 0.800
Ans. (b) : (.00032)°

108.

(b) 0.008
(d) 0.832

o 3
(oo =70
100000 100000

5><E 3
_Qz}szjﬂﬁj_(mg
10 10

110. If the sum of the number 5x9, 327 and 2y8 is

1114 then the largest value x can take in :
gfg FEEmRAt 5x9, 327 T 2y8 T IANT 1114 T,
TS x T WO WA A §—
(@ 9 (b) 8
(©) 7 (d 6
Ans. (¢) :

3 O

X
2

F)WUI
o]

1114
9+7+8=24
x+tyt+4=11

x+ty=7
y & HF 0 W |-
x =7 HedH HAH

Which rational number is bigger than rational
number 0/-5 :

aRAT 0/-5 G ¥ 9t uRaT @ §—
(a) —1/4 (b) —3/-8
(c) —2/7 (d) 173

—_

111.

Ans.(b):%zo &0 B W 98 T 0 gt

0 9 ol I off e gen gl
-3 3

T8 8
The product of L.C.M. and H.C.F. of two
number is 336. The difference of twp numbers
is 10. Then the number are?/ﬁ‘ T

W, 3R AW, H TUEES 336 ¢ X 3TF i

112.

T T 10 ¢, A 9% GEAd -4t g
(a) 10,20 (b) 14,24
(c) 24,34 (d) 34, 44

Ans. (b) : L.C.M. x H.C.F. =336
HIAT WT@ x 3R y %I
x—y=10 . (1)
x xy=L.CM. x H.C.F.
xy =336
(xty)’ = (x-y)’ + 4xy
=100 + 4 x 336
x+y =38 ... (i)
TRt (i) 3R (if) % Sgd W-
2x =48
x =24
y=14

113. 4% + 4% + 4% + 4% + 4% s divisible by :
4%+ 4% + 45+ 4% + 4% form HE | WIS B
(a) 3 (b) 11
(c) 17 (d) 19

Ans. (b) : 4°7+ 4% + 4%+ 4%+ 4%

41 +4+4+4+4Y

4545+ 16 + 64 + 256}

4% x 341

= 341 x4% - (11 @ Faarfsa anfh)
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What was the time before 5 hr 58 min from 3 :
57 PM :

3:57PM ¥ 5 2 58 Tie Uger =T WHI AT—
(a) 7:58 AM () 9:59 AM

(¢) 9:59PM (d) 6:59 AM

Ans. (b):3:57PM ¥ 5 &2 58 fiFe T2 W—

2 52 117 fame

5 %2 58 fime

9 &t : 59 e =9:59 AM.

3= fafir—
3 a9 57 foe 9 6 52 oM T
=9:57AM.
2 fe Sigd W=9: 59 A.M.

The following pic chart show the expenditure
incurred by a family in a month over different
heads if total income of a family is ¥ 35000, how
much has been spent on fuel & food.

Hrar fegr ™ wg fo W e uitaw g fafue
TSt W Teh WEH o @l ot fareRuT #1 af aiaw
W HA AT T 35000 ¥, A AT qAqT HIH W
et feraa @l gom §7

Education @

114.

115.

Food
Fuel

Cloths

(a) T 10700 (b) T 20300
(c) ¥ 30000 (d) T 34000
Ans. (b) : 3T + AISH = 10% +| 48%
=58%
$o + A9 W A G-

= 5—8><35000 =% 20300
100

Rent

116. Today is 1* April. The day of the week is

Ans. (b) : =ZITHIT % TF 9 GO B0 H F T
90° BT

X
gq HIOT (Complementary) = 90 — x
T 0T = 180 — x
TRk 10T S = HIUT H 3= (180-x) — (90 — X)

=90°

118. At what time will the simple interest at the rate

2
of 163% per annum be 5/6 of the principal?

e oo o 16%% A o B R
HTERUT ST, YA 5/6 B2

(a) 6 year/6 T (b) 5 year/5 ad

(c) 4 year/4 T (d) 7 year/7 ad

Ans. (b) : S.I. :%P

R=16§%, T=2

PRT 5. Px50xT
SIL =—— = “p=—"""_

100 6 3x100
T=598

119. What is the profit percentage if you buy
bananas at the rate of ¥ 10 dozen and sell them
at the rate of 10 bananas at3 10 ?

310 T W T H het TS AT 12 T o6 10
Hl B W Ao W AT TfwTe Sm?
(a) 36% (b) 44%
(c) 42% (d) 48%
Ans. (b): 10— 12 Fadl TR
T 12 10 ol 54
9 9o =T 100 — 120 Fot T
9 T =T 144 — 120 &l 99
144-100

¥ % = x100=44%

Wednesday. This is a leap year. The day of the | 170, 1f 30% of a number is 63 less by three fourth of
week on this day after 3 year will be : that number. Then the number is :
Tfg 3T 1 31 §1 fe geram 71 9 srfead 2 fy feedt d@m @ 30% @ e % dE-
A ¥ 3 I Uy WWTE Sl Shi=-AT T grm? =g | 63 A T, O 9 W& T—
(a) Monday/FﬁﬂETR (b) Wednesday/d¥aX (a) 140 (b) 126
(¢) Saturday/¥FER  (d) Sunday/ RN () 82 (d 93
‘Ans. (c) : TR ‘ Ans. (a) : - % = %— 63
117. The difference between complementary and
. . 3 3 12x —30x
supplementary angles of a given acute angle is : Zx—-Tx=-63=> /" —_63
fe T IR F Uk T WEIER RN T 10 4 40
3T g 74_108 X =—-63
60° b) 90°
(a) 1Q00 (1) 1240 X:140
\b} 10OV \U} 100
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Environmental Studies

THiERuite eI

Great dividing rage is located in which Continent?
e feamzfin ¥a Fr & wet feord §7

(a) Antarctica/3{eTeh{aht

(b) Asia/TfRmT

(©) Australia/ﬁ@ﬁ’l’aﬂ

(d) North America/3 3R
Ans.(c):%mﬁ&@m%ﬁﬂiﬂﬁaﬁ
Lo & 9o9 9 @ TH YW yadHen @1 39
geq ot iR e Wy & wared frEw s
(2228 T ) 31 LA wEEY 999 ST weE
2 5 afft ems & fem &1 e swfia R 100
Fferor @ 390 ROT qF TE Il foER 1130 gd ®
153°1§‘Wéawnmﬁw%@wéqwﬁgm‘rﬁél
siteforan Wl @ fidt werEiy off *wd €1 sHfern
FHaeve T F S 4 % we-wd 9gE ¥

121.

yaret A & R 3T aftr 8% #ad &1

122. The temperatuga%rasslands of South eastern
Europe T o T fesier ama
% I I HT AT %—

(a) Tainga/aT (b) Tundra/ggl

() Meadows/HIErst (d) Steppes/R'TTﬂTrT
Ans. (d) : 3RO T T F ST Hewy TH F wEE
H WS Fel S g1 YA seeda aw af &
foam Q=1 Temgl H 23.5° ¥ 66.5° ST F " wrA
S 21 TW YHR A U 9fy Iud omfw, ferh
R, I, TR (T + o) e s |
Rl S #
123. Which of the following is the highest peak of

South America :/gf&ur qEd St

= fr o | e g—

(a) Mt. Cotopaxy/Hi83<Z HIETdardT

(b) Mt. Etna/AR= T

(c) Mt. Aconcagua/HI3< W&T

(d) Mt. Kilimanjaro/mi3= fpferem
Ans. (c) : RO RS H TIY IJ= ARG HES
ST (6960 HeX ) 21
2feror R § TS wdader T Aiger vdd g1 a8
fova & gad =i (7200 fHh) gdamen @ wd gEe
sferpan e 15° 2Rl sww wd AR Ya@r % i A
21 3E wdqmrer # flgd s (6960 ) afRmr
AR F T T AT 8, S Rl 9 § fRem 7
SEfs WS & IW-UEH H e wewgd forgd
I H YUSK AT Sl 2|
124. Chlorophyll is found in which of the following :

frrefeafaa & @ ferad selRifther UTaT ST 872

(a) Euglena/??ﬁ'ﬂ ¥ (b) Hydra/ggr

() Jellyfish/SIfafesr & (d) Sycon/dEsH

suftef § wead sk agw@aﬁ
HRUT &, THH! AT §H S SR Ut Al
125. State bird of Uttar Pradesh is?

I UG T A el 8?

(a) Peacock/aR (b) Sparrow/‘ﬁ?ﬂ

(c) Sarus Crane/d ¥ %(d) Parrot/drar
Ans. (c) : SR T3 F TLTT W GRG 5 21 SEfh A-
IRA 397 HT TEA T&ft 21 AR F sgd RER F BT IR
AR 7 97 g G&T SAffam 1972 & dga qui weeor
wer fohar o 21
ferg iRan s 20 W I AT ST B 1 AR faeqw e
T gt F G ¥ T 2
126.

.

f e €

Which of the following harmones maintains the
level of Calcium in Blood.

frrafafaa & @ *iF-91 gmfa T | shfegram

% T Rl Tt ohear 8-

(a) Paratharmone/3UeE

(b) Thyroxin/ATgfr

(c) Prolactin/gretfe

(d) Somatotropin/?ﬁﬁﬁafﬁ?
Ans. (a) : QUMM BEA T H HIEE F W H
fafrafi s 8|
i WG & T 9Tl e § geRiEs G & uvd # fem
T % gRT U g 1 S R S 81 g
B 1 e ¥ T H HovEH & WY-H GEhS &
o forifia e 21
127. The thickness of Ozone layer is measured in :

I o R HIeTE ATt et 3—

(a) Kilometer/fpamiex &

(b) Dobson unit/SeaT S |

() Fathom/%eq o

(d) Light year/SsmeT a8 |
Ans. (b) : SS9 9 t HICTE SEHT 3hE | A
STt 2 |
3TN A THAY AUSA o el 9T # 15-35 o, o
g W Rl S 81 W WA @ ARehad = 50 fh.
T 9 W 8, W] S H Wd & ®9 F 1535
fepeft. 76 & 21 TS T g § fbed ara e
Weued § gl W Sed & gEn a6 81 gEen 59
gt H G FAT Fed ¢l IS SHeSH F A
TS & I T ] 2, e 1 e g 21
128.

Nitrogen_fixing bacteria are found in the root
of :/ATEE et Sfamy et H
Suferd B E—

(a) Wheat/T§ #  (b) Paddy/sT &

() Pulcac/faaT I3 (A Al obove/ SO0 ool =3
} fe—h—a-At-above SR

AP
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3R dY SR #1 U SR B a9 98
Bl % foIT SugR B

133. End product of anaerobic respiration is :
3ATFHT-Ia| <Y 3ifer Ieung Erer &7
(a) Glucose/’@ﬁ
(b) Ethyl alcohol/Tfara Tohigd
(¢) Malic acid/dfei Tfag
(d) None of the above/STIK # F &g Tl

Ans. (b) : 98 YIEA SN AT SFGSH & o1l 8, JFaAEE

129. Which is an edible Fungus?
HI-TT @ I heleh §7?

(a) Agaricus/@ﬁav_q (b) Puccinia/dTfergfa3m

(c) Mucar/=J& (d) Rhizopus/TgTaq
Ans. (a) : TIRHT GI&T H Th IS0 2, (98 @rd iR
sl q st wnfier §, Hwea: gfm ) # 300 §
A T | T TeEw @ @ iR oW e #
TRy, g 3R ity %&@H M gl

130. Mangrove plants are found in :

e WY T e E—-
(a) Himalaya/fgarerd (b) Sundarban/lj;ala:l
(¢) Desert/ A= (d) Rainforest/asta

ns (b) : T WY Hazad § g 9 £

fife U9 g9 8 8, o @R e o srg-mR U § o
W 2| SRR I8 UH a1 &6 § uR 9§, Se &
T et orR F W97 @ oA 8, ed W § 98 o
aﬁi@ﬁﬁﬁﬁ%@ﬂélwﬁﬁﬁama@ma

TIH el | - GEHSd TSI (WISH) P 3T,
Fr-sEaES # Aot § #i e oied §1 R
Wwﬁqﬁmmwww%wwwwﬁ
gt §1 Sigel § S Teehe o] sraredE vaed H I
S g, ﬁmmﬁﬁwélﬁ%@gﬁ
& # o @ik CO, # Siadiga & & v er 2 |
e - I A # TR IS Tewlgd QA1 6 T 8
Sﬁimm%WﬁWWW§ﬁWanswerk6y

T8 S & R

134. Who established the Indian
University in Mumbai in 1906 A.D.?

1916 3. W gwE W W Afgen favataene=
it wuT feRe feRam ar?

(a) Aatma Ram Pandurang/31cHT T qig{T

(b) D.K. Karve/€l.%. &d

(c) Mahadev Govind Ranade/TgIed Tfdg TATe
(d) Keshav Chandra Sen/H¥E =% T

Women's

%G(d-l ST ﬁ d<|r"4||%4°b

. Which of the following structure is triploid in
angiospermous plants :/

frefefiaa 9 & S=-wt Gem By §2

(a) Radicle/qeTept (b) Cotyledon/dTsTa

(c) Plumule/siet (d) Endosperm/guTdrs
Ans. (d) : 3TIEIST Gt # BT oI S T g ©
T 98 s a9 e § @ 8 8, 3% sgaeet
q1e Fed §, SH- 3T &1 b g &
7 ¥ gl 21 9 % IRUSd 89 ¥ Ted QU g e
4§ fosradlie g (S - wex, e, W ) Ew
I R feran Smr @)1 egmefeEl #, Wfe SHA @
S GRVTH S A 31 S S U PR dieie %
wq # afvfq e s 2
132.

In which of the following families_ Parietal
Placentation is present : o

He ¥ fufser stemrg=ama ura s §7?

(a) Brassiaceae/sfqehd! (b) Malvaceae/dTerad!

(c) Asteraceae/TR R (d) Solanaceae/STe=gr
Ans. (a) : SURH FoT H fHfder siSTUe=aE qr&r S
2l uftes wHeyH fiwdad A féerad
e H gEr Sl B S U F WOr F HRUT
THHIEHE VS G o7 S 21 e wideye
it aRam # & 21 Brassicaceae H Gynoecium

bicarpellary, syncarpous, IgH UEWE Tk
ZIAL 2, Sl Uk T3 U2 % T & 0] 2 99 S 21

| [T WA A G 1867 ¥ H SERM WSl F i

Ans. (b) : 1916 5. ¥ g% § 9Rdg Afgen fafammes &t
WO S Hd A4 @ A uRdlg wEe # @ &
T 9 B @A g TEANY 9 feERal 7 1819 .
T hethdl | TR B g S TG H |

off| SN, WUSREHL T THAST. TS 1870 5. § 3Hh
e 94| g W@ 3evd g g¥ & Rl q@n vt
A=Al § GER ST 911

$feo IS TI9TE SR H TOAT 1887 . H WH.ST.
e T & A

IAT S TS S T 1866 5. H 3@ I 49 7
# M A IR TEN (TINE HET T9 5N ) §

37T BT T 9 7S Ger T @l off |

135. The famous Rath Yatra of Puri is associated

with :/G8 =t Tl T T ARt §—
(a) Lord Rama/9Tar TH g

(b) Lord Vishnu/smmam fasy @

(c) Lord Shiva/aaH ¥ g

(d) Lord Jagannath/9Tar ST=Y g

Ans. (d) : 0 & 905 W I WA S § g
21 W F T g am and # § 7, afes fwam
# ufrg &1 78 a1 S @ o6 A % < JE SeEn
w1 femer W@ diEAr, 39 9 1 SR BT 81 Sohd
TN o WEM <ol o S St @ A S &1 ¥@i %
g oH P AT § T S FW0 H g qff F wdip
@ s S § ) gl o & ®9 F of sy § gegof

SITd bl 3ocd §33|TI
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136. On which river bank the Nasik Kumbh Mela is
held at?

AR W T Wl foRe Tdl o @€ X ST €7
(a) Shipra/feram (b) Narmada/TdeT
(¢) Godawari/Me@d  (d) Tapti/ar=it
Ans. () : TE H H9 T P MASH Maad 78 & aC
T FAT 21 FT Fell 9RAas § AR WE W EAr g @
F - 3R NI g e % I A W Al
Iso # F9 Tl P oA /R 76 F d@ W
g%a;ﬁ‘a’fi{r{ﬁww%mﬁgﬁwﬁwwmm
|
137. What was 'Sandhya'? / ‘G311 91?7
(a) Hymn/9sq
(b) News Paper/3T@daR
(¢) Political Party/TsI-ifdeh 3t
(d) Religious Institution/sfHes HEeT
Ans. (b) : HET TS 3WGER 91, S sTcll 9O7 § fafe ar
GIR F ®Y H THE ST 911 g TR &M
fore & S 1906 € SEREME U™ 5N IE
feram e @
IRd H YOH THER 99 e & 99 o SR
feehl 1 faar S 81 3= 1780 €. H &t TS
JeRre feha|
138. What is the total number of members in state

Legislative Council of Uttar Pradesh?/3<X LN

TS e uieg # e Hew S fhet €72
(a) 100 Members/100 &

(b) 110 Members/110 T

(c) 80 Members/80 €&

(d) 104 Members/104 <&

140. The song "Jana-Gana-Mana" was adopted in

its Hindi version by the Constituent Assembly
as the National Anthem of India on which
date?

“IE-To-Ta ot el HEeRtur st dfaems

AT 7 ORAE & TR % ® W &S

gAY

(a) 24 January, 1950/24 SHed, 1950

(b) 26 January, 1950/26 S=ad, 1950

(c) 15 August, 1947/15 3TTT&, 1947

(d) 26 November, 1949/26 Taw@, 1949
Ans. (a) : T WA G 57 9 &9 G aiven J
o SH-TU-TE R G @ GfgeE g 9 24
SHEd, 1950 2. P UG H TN EHR A 596
T F AT 52 YHUS @ a97 Gl Srafy 20 Thvs
T S 8| 98 GEwgw 27 fEER, 1911 § WRdE
g FIY & pAwm AREIHE  (3rEw- €. e
IR0 &) | BT T4
141. Name of the Speaker in Seventeenth Lok Sabha

is? f TNRAHT T T AW 7

(a) Sumitra Mahajan/qfHT H&TSH

(b) Om Birla/31¥ forgen

(c) Rajnath Singh/TsHTY &8

(d) Amit Shah/31fid 3118
Ans. (b) : TTES HHAA & ABTA 7T AW fagen
F1 HEUE ¥ oFEE-93 % IER dihad @ & o1
awdl § § U TRy IR U |
AT ST, ORI THE & AIGEA, ABI B
QT Td SRS B 81 a3 & e

Ans.é(a):wmmﬁmmﬁwww S
100 =
foreft Toar H e oRug & TomqeT iR g 1 SrEue
TR 169 ¥ far 7 21 faum ufteg T=a faum wvea
& 3= We &1 ga9 H Hael 6 T [ST IS (99),
FAleH (75), TRE (78), fRR (75), g W= (50)
AT TATHT (40)] H oo oRws foemm €1 e ofteg|
P GIH T oI AaH 3Tg-Hmr 30 o 21
139. The Flag code of India came into effect from?
AT AT Wigam el § Fet g8 7
(a) From 26 January, 2001/26 S=e, 2001 g
(b) From 26 January, 2002/26 SHad, 2002 g
(c) From 15 August, 2001/15 37T&, 2001 )
(d) From 15 August, 2002/15 37T&, 2002 )
Ans. (b) : T & Hfgd 26 SHE, 2002 ¥ I g
o 9N & TEYM [N 7 ULET H TEU 22 AR,
1947 & 39T TETT &ast H G@EHHE 9 H g9
Tedr 9 He fhar gRAT eae WA 2002 F AR
Tft aRdE TR g foel deemsd oenfy & off
T eal TG b1 SRR 2|
o WA FUer WA U T W AN T wEM
A IS Tl F |

ARG A F WG, AR H JIH 93 H & W
forar < 21
142. Who is the chairman of Inter-state Council in
India?/TRa ¥ SfeR-T=far ufRwg &1 sremey
I FraT €7
(a) President/Tsgqfd
(b) Vice-President/37 T&fd
(c) Prime-Minister/SeT a1
(d) Union Home Minister/S DRSE]
Ans. (¢) : YT ¥ SiRIAT UREg 1 STt JFET &I & |
o HfewM % FWI263 & FId FE TH T h
#9 Taag Wi & fau Tt @ s
qRog & TG HT Febell |
o TEGH IR 1990 . H STRISAE URSE & TGl i
T HE WHR 3 ukedl % Ao & eE ¥ s
R T % i foemergR qE @ 9= e 5
emfd AR, TH, SREREr # eTeer § 1988 H UH
A e fFaAT o1 WHIRAT WA 4 9RA %
Hfou & TS 263 & IFTER TR e &
TR0 § et i & o el ufte wenfia
. Faofier &t o)
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143. Amongst the following, while performing duties
who shall have the right of audience in all
courts in the terrltorg of India?

U wHdedt & AT h

fow ara % TS & weff =Tt ¥ gaas

T SRR F?

(a) Comptroller and Auditor General of India

I & s werear Ties
(b) Speaker of the House of the People
I T T 3Tee

(c) Attorney-General of India/9d T FET=ATISTET

(d) Prime Minister of India/¥Rd T JEHHAT
Ans. (¢) : T & TEHEAE U & Jooid Gfaee §
IR 76 F I e T 2, fme frgfe o %
Tgfd g # S 2, ST SARE Supreme Court &
SRS g # A Al 21 9RA S AT
IRT THR H1 G HAA FGABHR T4 ARAE Ieaad
= ¥ WER P F@e S €, 9 6 %
TeEEE!, ., diddare d9 948 % HeraEae
3. o &)
144. The district where the Ganga river enters the

state of Uttar Pradesh :/@g TS Sigr i

I YT U § YA HTeAr §—

(a) Meerut/733 (b) Bulandshahr/ga=3TeR

(c) Mathura/HgqT (d) Bijnor/ﬁTrFﬁI
Ans. (d) : T 7 W TR F R fer & gdgem
TATT A B 1 T A STES F St # e v
TARTR % M@ 9% W ¥ Sgal & AW ¥ e @
58 TR & o AnfRell % A 9 S S @ dr e
TR AN H qniRet stosqar 9 faert & e R
3G a8 A T % & F S S 2

145. Which of the following rivers is not the
tributary of the Yamuna river?

frafafge afest & @ &9 g T ==t

wETae TE &7
(a) Gandak/T€sh (b) Chambal/==et
(¢) Betwa/sar (d) Ken/&

Ans.(a):@ﬂ'ﬂfﬂﬁﬁ%%ﬁﬁ%l

TG A W B G A FeEH AL €, A
(et & 30 fl. IR, Tearer) A e 9 et
g 3R s § T A9 F @R 9 W TR faet S 21

& | [Ans. (¢) : S FEW 1 PR el Ja@re TR H

= 21 K2 qdd Wi & frefia- &1 ==
g it REfsei sew & @ W 8, SEfh 9d @
Afedi & @de (7756 m), B (7120 m), F=E (7816
m), 9 TGS § g U7 hedsE UG H Ged e
=T 2, et 3= 8598 m & |
147. The plateau which is located in Austraia.

9E W i Stteferan # fora ¥

(a) Colorado/aIcAIRE! (b) Kimberley/%ﬁﬂﬁ

(c) Katanga/sm (d) Patagonia/ﬁ?ﬂﬁ'ﬁm
Ans. (b) : e TR i § Red 2|

fohrarel gor, R fpmet off w1 S 8, W S

ufyedt fRferr &1 wHh el & 8| wefh fEmEweh =@
fohmarel SfRIUT ST % IOl HU W @ qeEE g
ferreret UfeeTss &9 T €R & @ & for sfg 2

148. The district of Uttar Pradesh which does not
form part of Bundelkhand Plateau:

I YUY 1 9% e S J<oi@s TSR HT

AT T &
(a) Hamirpur/gHRgR (b) Lalitpur/@fetdqe
(©) Mirzapur/ﬁﬁlfg'{ (d) Jhansi/3mEt

9 T 2
H TER fr el & Yor 3R e

gt & s qeT WY TE IW NS ToAl § 2l

SFTIT W LY kWA A (S, R, e,

ferrpe, TR, ofar, WEEm) qUT Hed WIw & (af,

AeFTe, W, aﬁ%aﬁzwm)wﬁa%

149. In which of the following states the Dudhwa
National Park is located? T H
ferrat geran Tt s fRere €2
(a) Odisha/3TifEem
(b) Madhya Pradesh/A& S&31
(c) Uttar Pradesh/3tX BEN)|
(d) Uttarakhand/3TUGEe

Ans. (c) : ST J39T U7 § goe] U SaH 1o 2|

3gaT T 3TM S IS (VNA) F d@HR @l

S92 # g @R a9 21 F8 9Rd 3 AqreT et

T o foener a7 &9 § %ol 81 I8 IR SN o Had wgl

Td qug o9 fafqudr arem & 21 9 U sue e

3N SERam & fau fava 9fyg 81 g9 3reEr =wsm

FRISE STERTY o 3T YR § e 21

JUAT H o ACdl H W AL, Sqar A4, d9d A4,
F9 T SR R 7§, R 2h A 9 # g A
TETas A 8, e ek A A A B GeES A4 2
146. Which is the highest Indian Peak :

150. Metur Dame is Constructed on which river :

ez arer @ famtor ferm =t oy gt &—
(a) Ganga/TM (b) Kaveri/&Tes
(c) Mahanadi/FeMal  (d) Sutlej/Sderst

Wm‘tg@ﬁﬁ%ﬁftmﬁq—@ﬁ%— Ans. (b) : 52T st St Fmfor F1E0 T W gam 2

(a) Nanda Devi/7al &t (b) K2/&2 ) ,335 At o a3 S A A T 1 A # 8

() Atlas/Teerd (d) Kamet/®ite 3 w0 7 W 2, vt TR T4 g W Y w2
Ans. (b) : NG & T&9 34 A K2 21 ngmﬁno élaﬁﬂqﬁwmm
K2 (efem oiifer) fova & gou 9o 1 gda 21 78| | Fie et & sl qm%aﬁ@ém%wimaaﬁ
fRured & SR guft § Req 2, fge owré s611|| (@Sl # i § @ a@ e & dsmae et & @i
ﬁ?TélEEWHH%U%:WU%ﬂ?;&FﬂﬁmﬁTﬁ wmaﬁﬁ'@é?‘ramﬁ‘n‘f‘m 2
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